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Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 9983672004
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 99836739223 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A series 15 given with ore terml missing. select the correct alternative from the given ones that will complete the

SEries.

TR, WU, ¥X, ZA, Y
Options:

1. ¥ BED

2. % CD
3. % EE
4, % CF

Question Number : 1 Question Id : 99836739223 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T ST T T &, TS E e g A 8 fau T Tl # 9 9 T e g, ST agwh O #
TR, VU, ¥¥, ZA, Y

Options:

1. ¥ ED

2 % CD

2. % EE

4 % CF

Question Number : 2 Question Id : 99836739224 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A& series is given with one term missing. Select the correct alternative from the given ones that will complete the
Series.

G2ZER, K25E, 019D, 529], 7
Options:
1. % W29

2. ¥ W3gP
3. % VWIREP
4. % V390

Question Number : 2 Question Id : 99836739224 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
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T SR T T g, e & U ug g 7 e my fwedt # @ ag wgt e i, S argews T O

GZ25R, K35H, 019D, 52497, 7
Options:

1. % WZ9R

z. ¥ WI9F

3 % VWIBP

4. % V390

Question Number : 3 Question Id : 99836739225 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Ir1 the following question, select the odd word from the Ziven alternatives,

Options:

1. % Car

2. % Truck
=% CyCle

4. % Handle

Question Number : 3 Question Id : 99836739225 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
FrafeaT v # fon 7y fwen! # & o e @ g

Options:

1. % @

2. % TH

3. % greiw
4. v g=d

Question Number : 4 Question Id : 99836739226 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the fOllOW‘iﬂg question, select the related words from the Ziven alternatives.

Tool : Scalpel - Bird ;7
Options:

1. # Feather

2 % Sky

3. % Parrot

4. % Dolphin

Question Number : 4 Question Id : 99836739226 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T v | oy my fHwed! § & "eted geaf ® g
T gﬁﬂa‘r:: Er&ﬁ:: 7

Options:
1. % og
2. % A
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= & g
4 % ZiemEd

Question Number : 5 Question Id : 99836739227 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
In the following question, select the related letter pair from the given alternatives.

JE PO 7
Options:

1. % TL:HO
2. % PH:KS
3. % DE: WV
4. % 3G TH

Question Number : 5 Question Id : 99836739227 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
e W # Ty T Tereeut # & Helldd ST5% G @ g

JE . PS 7
Options:

1. % TL:HO
Z % PH:KS
3. % DE: WV
4. % 5G:TH

Question Number : 6 Question Id : 99836739228 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In a certain code language, MOINT' is writter a5 11315914207, 'TORFPS' is written a5 '201513161%". What is
the code for “GARET' in that code language?

Options:

1. % 7181220
2. % 7118220
3. % 7021182

4. % 7811220

Question Number : 6 Question Id : 99836739228 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

0 e FE T # CMOINT® #1°131591420 TRramT g, TORPS #1'2015181619 TMETaET 81 59 #ig vmT H
‘GARET® & FIZ F47 57

Options:

1. % 7181220
2 ¥ 7118220
3. ® 7021182
4 % FE11220
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Question Number : 7 Question Id : 99836739229 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Height of five students &, K, L, M and T are compared. Height of K is more than only two students. Height of M
is greater than T and Height of T is greater than K. How many students are smaller than T?

Options:
1. %2
2. ¥ 2
2 %0
4 % 1

Question Number : 7 Question Id : 99836739229 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
O oAt &, K, L, W qT T @ 32, @1 3o @1 T 3 K & JaTs dad a7 ot | arfede 81 M &1 3 T 4 arfeer g 2 T &1
T K arfier g1 e v T 9 B 87

Options:
1. %2
2. ¥ 3
2 %0
4 % 1

Question Number : 8 Question Id : 99836739230 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Six boys &, B, C, E, Fand G are sitting in a row facing towards north (not necessarily in the sarme order). E is
not sitting at any of the end. G is sitting third to the right of &4 C is to the immediate left of G. 4 is at one of the
ends. E is not to the right of C. Which of the following pair of boys can represent the immediate neighbour of G?

Options:
1. % EBa
2. % F&
3. W EC
4, % EE

Question Number : 8 Question Id : 99836739230 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

gEAsF A B C E FaulG wdﬁaﬁmfﬁaﬁ?aﬁmé%?%mﬁqﬁfﬁﬁﬂﬁm E fopdt ot 1T 02 A1 a1 81 G,
& F ST o T T W AAT 81 C, G F qid 711 AR B A UF BN W g B, C F IRl & 951 51 FEERET s 9@ ar
I G & A St w1 gl a1 a7

Options:
1. % EB&
2. % F4
3. % EC
4 % EE

Question Number : 9 Question Id : 99836739231 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Five bovs E1, BEZ, B2, B4 and BE like any one colour out of the five different colours : red, vellow, green, orange
and pink. Each of thermn have one bike out of five hikes . L, M, M, P and T. None of them likes same colour and
rione of thermn have same bike. Boy who like orange have bike F. E2 have bike M and he likes green colour. E1
likes colour red or yellow and have bike L. B4 likes either red or vellow. BES hawve either I or T bilke. Which of the
following combination of Eike - Colour - Eovy Can be Ccorrect?

Options:

1. % M - Yellow - BEZ

2. % P-EFEed-E1l

. % L -PFink - BS

4 % T - YVellow - B4

Question Number : 9 Question Id : 99836739231 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
U @Edr B1, B2, B3, B4 T BS Ui &g O : &9, Wa, g3, AR a2 Taret § & U 07 06g #<d gl Wodd & 0T
g st L M, N, P 9T # & FE UF a=F ol aﬁﬁﬁ?ﬁaﬁaﬂﬂmmmqﬁ maﬁﬁﬁr@rﬂfwwm

TRl 21 TF A=, ﬁi?r:rmﬁuﬂa% I O P alew 51 B2 & ORI M @S & a9 aam! E1 @ & 2T UiAT 7 06, &
T I T L A8 21 B4 T A1 T &7 OT 06g 21 BS FO N A1 T Erréﬂ?%ﬁﬂﬁ%'cr - T - ASH T HI T
T TR 57

Options:

1. % M - WAT- B2
> R pP_-A&-EBE1

3. % L -T1@ET - BS

4. ¥ T - OidT - B4

Question Number : 10 Question Id : 99836739232 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following question below are given some staternents followed by some conclusions based on those
staternents. Taking the given statements to be true even if they seern to be at variance from cormmonly knowr
facts. Read all the conclusions and then decide which of the given conclusion logically follows the given
staternents.

Staternents:
[LANNJareT.
IIMNokKisT.

Conclusions:
[. Mo Jis K.
II. Some T are K.

Options:

1. % Only conclusion I follows.

2. % Only conclusion 11 follows.

2. % Both conclusion I and IT follows.

4. % MNeither conclusion follows.

Question Number : 10 Question Id : 99836739232 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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el T T Wy e F S I STg 34 ! U ST i Tsey T T g T T S R @R W, Ay S S A
et & TargaT g adt fomand o sffv e Frarffo @ o fam o a0t & Tomeand), T i et & s o) gieETTT @)

-
& 4T, TR
II. ®EK, T 518

ELE .

L % J, K T 8

II. F7T, K 8l

Options:

1. e Twept 1 STeoT & T ol

2. % el T 11 STgEm FaT gl

3. ® gt fomed [ F2T Il SgE Fd 8
El

R g ot e srgEe T aaT A

Question Number : 11 Question Id : 99836739233 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following question below are given some staternents followed by some conclusions based on those
staternents. Taking the given staterments to be true even if they seem to be at variance from corrrmonly knowrl
facts. Read all the conclusions and then decide which of the given conclusion logically follows the given
staternents.

staternents:

. Sorme red are yellow,

IT. Sorme greern are blue.
I1I. Somme green are yellow.

Conclusions:

[. Some green are red.
I[I. Some blue are green.
II1. Mo wellow 15 Dlue.

Options:

1. % Both conclusion [T and 11 follows,
2. % Only conclusion I follows.

2. % Only conclusion I follows,

4. % Al conclusion follows.

Question Number : 11 Question Id : 99836739233 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
et e T wer ® g w3 oTg, 31 el O T o ey T g g fi T st 'Rt W, Ay I9d S S
Fert & TargaT g ot Fomand o offe o Frarffor @ e Tom o @t & Tomard, o v et o ammere ox gieama 2

el

I FF A1, dIe &
II. F7 521, AT 8l
I11. 3 &1, dieT 2l

T
L. FF 5T, #1e &)

I1. & AT, TXT 8
111.@%@1:?1?«11 HTAT A1 &l

Options:
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1. ® gt fwed [ 97 111 argaeo o &l
2. % et T 1 STgERoT FaT gl

. ¥ et Tmand [ SIgemoT 94T 5l

4. % gt fomanf sree w8

Question Number : 12 Question Id : 99836739234 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If A means ‘4, B means “x', 'O means '+ and ‘D means - then 16 C FE A9 C 25 ABE D21 A 1L =7

Options:
1. % &3

2. ® 47
3. ¥ 57
4. % 49

Question Number : 12 Question Id : 99836739234 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T a wTapt 4+, B w0, O e~ qem D e S AT lECFE49C 28 AE3D 21 A 11 =7
Options:

1. ® g3

o ® 47

3. ¥ 57

4. ¥ 49

Question Number : 13 Question Id : 99836739235 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the following question, select the missing number from the given series.

21,62, 124, 251, 7
Options:
1. # 508

2. ¥ 4498
3. % 500
4. % 502

Question Number : 13 Question Id : 99836739235 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T we § 7 T8 5wl # & gH S F1 Fim
31, 63, 124, 251, 7

Options:

1. % 508

z ¥ 4383

3. % 500

4. % 502
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Question Number : 14 Question Id : 99836739236 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
[dentify the diagrarn that best represents the relationship among the given classes.

Erothers, Father, Ferrale
Options:

QD

o

@

OO
O

b
3’{

Question Number : 14 Question Id : 99836739236 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TE T I AT T Ty T A & S o e T wal e war g
e, e, Aigem

Options:

QD

(0)o

@

i
3’{
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Question Number : 15 Question Id : 99836739237 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Homww miany bats are stick?

Bat Stick
X yd
8|6
4 i1
9
7 \
|
Red
Options:
1. % 19
2 % 1%
2% 10
4 % g

Question Number : 15 Question Id : 99836739237 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Topat awet Teeem &7

Options:
1. % 19

o %13
2 ¥ 10
4 ® g

Question Number : 16 Question Id : 99836739238 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Rajat is initially facing towards north. He rotates 328° in clockwise direction. He then rotates 432° in
anticlockwise direction. In which direction is he facing now?

Options:

1. % South west
Z % South east
3. % MNorth east
el

. ® North west

Question Number : 16 Question Id : 99836739238 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

ﬁg@@ﬁgﬂ?fﬁaﬁraﬁ@% T SIGUE TGuT § S25° YHaT 51 9% THE aETad o7 H 432° HdT 51 JF 6 T o &
TET 7

Options:

1. ghgm o=
o ® gigo o
3 % W

4 ® v ukEy

Question Number : 17 Question Id : 99836739239 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25

T i5 19 lan towards the west of L R is 6 ki towards the east of L. 515 10 ki towards the north of L If WV is 18
km toweards the south of 5, then in which direction and how far is W from E?

Options:

1. % South east, 10 km
2. % North west, 15 km
3. % MNorth east, 15 km
4. % South west, 10 km

Question Number : 17 Question Id : 99836739239 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T,LE1GTral aem Sl AR A R, L &6 fon ol qd & afw 1 5, L 9 10 fop ol I af g1 Iig v, 5 & 18 T ot gfgor &
A g, ATV, R & o fea of o frasit g 37

Options:

1. % glamgd 10 fFdr
o ® FovOmEem, 15 AT
3. % gwud, 15 fEdt

4. & gigor oW, 10 A

Question Number : 18 Question Id : 99836739240 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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In the following question, select the figure which can be placed at the sign of question mark (7 from the given
alternatives.

w w w w
—o |[¢H—>| PH—| | ?
o o0 C00 00000
Options:
%
0000
1 &
¥
0000
o
¥
HH
[.1-1-1.1
3.
b+ ¢
0080
4 ®

Question Number : 18 Question Id : 99836739240 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
TrafeEd wa # faw 7y et # 9 we 2y (7) & W0 U ST aTEl ST @l g

% 2+ 2+ w
M—| [H—>| P |
o 00 o000 00000
Options:
b+ ¢
0000
1 &
¥
0000
2 o
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b ¢
o000
z R
b4
o080
4 %

Question Number : 19 Question Id : 99836739241 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
From the given answer figures, select the one in which the question figure 15 hudden fermbedded,

"

Options:

P2
ﬁ{

o
ﬁ

Question Number : 19 Question Id : 99836739241 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

ST I AT Al § I IO AT 1 gy e § 0 sl g 8

Y
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Options:

NV

oh e

4. o

Question Number : 20 Question Id : 99836739242 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhich answer figure will complete the pattern in the question figure?

&

Options:

NE B

L
3’1
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Question Number : 20 Question Id : 99836739242 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

I | I ATF T T ATFTT o WG FT T BLI?

&

Options:

<

NE G B

.
¥

4 ®
erleral Awareness
Group Number : 2
Group Id: 9983671212
Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit?: No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
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Minimum Instruction Time:

General Awarerness

Section Id : 9983671611

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions; 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 9983672005
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 99836739243 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The Classical dance form Fuchipudi’ belongs to which Indian state?

Options:

1. # Kerala

2. % Andhra Pradesh
2. ® Tarnil Nadu

4. % Uttar Pradesh

Question Number : 21 Question Id : 99836739243 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
T 7o It Frogar O aRd = T 9 gaid 87
Options:

1. ® gd

2. & AT U

3. % FiEAE

4 % FEULT

Question Number : 22 Question Id : 99836739244 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Divaso’ is celebrated by Dhodia and Varli tribes of

Options:

1. # Andaman & MNicobar [slands
2. % Lalkshadweep

2. % Dadra and MNagar Haveli

4. % Puducherry
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Question Number : 22 Question Id : 99836739244 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Feamar ______ o ST TAT AT I /T AT AT 21
Options:

1. ® =g 3o FE e i

o, % Ty

3. & T T A gl

4 ® gzt

Question Number : 23 Question Id : 99836739245 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The average daily balance that a bank is required to maintain with the Reserve Bank as a share of such per
cent of its Net demand and time liabilities (MDTL) that the Reserve Bank mayv notify from time to time in the
Gazette of [ndia is knowrl as

Options:
1. % Statutory liquidity ratio

2. % Marginal standing facility
3. % Reporate

4 % Cash reserve ratio

Question Number : 23 Question Id : 99836739245 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

it e iy e s @t ST g W a9 90 greed (MDTL) @ widad & fees & & 8 T ot o J1e7 91T @1 e
& o e 1 Torel of o |HHa-|0a 07 AR o (9T H gieid &% amdl g 36 & &0 H AT 9T 31

Options:

1. ® gifateer Al s
o % gl et g
3. % mraw

4, ¥ T ARIET auTT

Question Number : 24 Question Id : 99836739246 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
______ 15 the nodal departrmernt for formulation of the policy on Foreign Direct Investrnent (FDI).

Options:

1. ¥ REI

2. % Departrment for Promotion of Industry and Internal Trade
3. ¥ SEEI

4. ® NABARD

Question Number : 24 Question Id : 99836739246 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Taear uegey Toeler (T =1 ) o Afd daw e feir ______ e et ST 8l

Options:
1. % arat ame
2. & T gada o st s fEmT

@ Teachingninja.in



3. R oy
4 ® qEE

Question Number : 25 Question Id : 99836739247 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
which of the following animal species belong to phylum arthropoda?

Options:

1. # Holothuria
z ¥ Aranea

3. % Chiton

4. % MNerjes

Question Number : 25 Question Id : 99836739247 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
FEETET O & ®i |1 0y Wi WIS RIS & Heted 57

Options:

1. % g
2. & T
3 % Fed

4. % IO

Question Number : 26 Question Id : 99836739248 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
which of the following element has poly-atormic atorucity?

Options:

1. % Argon

Z. % Phosphorous
3. % Sulphur

4. ® Oxygen

Question Number : 26 Question Id : 99836739248 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

i § & Torg aoa & TguTaTIE TATET 57
Options:

1. % gmiq

2 & GG

3. ¥ Gt

4. ® gt

Question Number : 27 Question Id : 99836739249 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
which of the following statements regarding soundwaves is incorrect?

Options:
1. ¥ The audible range of sound for human beings extends from about 20 Hz to 20000 Hz
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2. % Frequencies of sound waves higher than 20 KHz are called ultrasonic sound waves
3. % Ultrasound is produced by dolphins, bats and porpoises.

4. ¥ Earthquakes produce high frequency ultrasound before the main shockwaves begin which possibly
alerts the animals.

Question Number : 27 Question Id : 99836739249 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
sty et o ey # TgiaET # F 319 |7 e e 27

Options:

1.p$3 Tgeat # edi g eI @ 0T o 20Hz | 20000 Hz 9 5ar

2. ® D0OKHz & o1femr safd &1 eaiadi #7 mreai- #ed 2

3. % ZTAMEA, THMES AT GRS WIea - Jo0g a5l

4. & T T WETd | AT g STTE ST i ORTEa ] Soug ®id &, S0 HHed: SAe | &1 AT w gdl gl

Question Number : 28 Question Id : 99836739250 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following tributary of river Garnga comes from peninsular uplands?

Options:

1.9 5on

2 ® Kosi

3. ¥ Gandak
4. % sarda

Question Number : 28 Question Id : 99836739250 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T S S R # @ e A agrew St S meEd & st 27
Options:

1. v |9

2. &

3. % nEw

4 ® gEeEr

Question Number : 29 Question Id : 99836739251 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The mainland India extends between latitudes

Options:

1. % g°4'Nand 27°6'N
2. % 74N and 57°6'N
3. % So4N and 47°6'N
4. ¢ 5°4'N and 37°6'N

Question Number : 29 Question Id : 99836739251 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
W & g W ______ TS & e Tied! 3% B
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Options:

1. % g°4'N U1 276N
2 % 74N TATSTET
3% SN TET 476
4. % B4 TUT 376

Question Number : 30 Question Id : 99836739252 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

which of the following neighbouring country of India shares its borders with maximum number of Indian
States?

Note: For this question, discrepancy is found in question/answer. So,this question isignored for all
candidates.

Options:

1 China

2. Palastan

3. Mepal

4. Myanmar

Question Number : 30 Question Id : 99836739252 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
TfeiET 8 & O & %04 T IS 6T G IR & SITOwaA (=2l & ArT a1 SIHTer &1 ars &a1 a7

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.

Options:

1. =4

2. OTieredT

3. e

4. T

Question Number : 31 Question Id : 99836739253 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Inn which region in 1218, Mahatma Gandhi organised satyvagraha movement amongst cotton mill workers?

Options:

1. # Charnparan
2. % Kheda

3. ¥ Ahemndabad

4 % Surat

Question Number : 31 Question Id : 99836739253 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TETeAT TITEfT = 1918 # Ty 47 & Tt U] FRa! 3 FAgel & dia Hoanrg s e faar ar

Options:

1. % gume

2. % w7

3. ¥ aEgHeTETs
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4. % {oq

Question Number : 32 Question Id : 99836739254 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Delhi first became the capital of a kingdom under

Options:
1. % Tomara Rajput

2. # Prithviraj Chauharn
2. % Cutbuddin Avbak
4. # Jalaluddin Khalji

Question Number : 32 Question Id : 99836739254 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
Towml Ul e ______ & T U T2 & T2 T a1

Options:

1. & T T

o % grdiee g
3. ¥ gradnid Uaw
4. ® FATTS I FerAT

Question Number : 33 Question Id : 99836739255 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Megasthenes was an ambassador who was sent to the court of which Indian ruler by the Greel ruler of West
Asig Seleucus MNicator?

Options:

1. % Ashoka

2. % Bindusara

3. % Chandragupta
4. # Rajaraja Chola

Question Number : 33 Question Id : 99836739255 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

HIR S e Toiga T, T aiserd ider Segeg e & G e g o A o ST # =11 1T 2017
Options:

1. % arare

2. ® fgaEr
3. ¢ dgA
4. ® AT TAT A

Question Number : 34 Question Id : 99836739256 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

which Indian Singer has been honoured with 'Magnificent Performing Arts Award' at the 21st Century Icorn
Awrards in Londorn, United Kingdorm {JE)?

Options:
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1. # Shankar Mahadevan
2. % Sonu Nigam
2. % Lata Mangeshkar

4 % Shaan

Question Number : 34 Question Id : 99836739256 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

ﬁmwmﬂ%mqm I T, TAEes e d () § 2 19 Tl sMge saed § aHeR (At e e REwr & ST
EEIRIE IS

Options:

1. % g weTdad
o & g e
3. % FaT AT
4. % 4

Question Number : 35 Question Id : 99836739257 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
has been appointed as the first Lokayukta of Andhra Pradesh.

Options:

1. % Justice Pinaki Chandra Ghose

2. % Justice Dhananjaya Y. Chandrachud
2. % Dipak Misra

4. % Justice P Lakshrmana Reddy

Question Number : 35 Question Id : 99836739257 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25

______ T BTN & Ugct AT & =0 H g o ma 2
Options:

1. ® Fieed Ut =g Oy

2. ® Flerq g g a1, degs

3. % o e

4. & Fiera ot daEu E

Question Number : 36 Question Id : 99836739258 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
become India's first female military diplomat by joining Indian embassy in Russia in 20149,

Options:
1. # Shivani Chaudhary

2. # Payal Verma
2. ¥ Anjali Singh
4. % Pragya Ahuja

Question Number : 36 Question Id : 99836739258 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
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2019, & H WG GATeTg H A gl
Options:

1. % T 2reer

2. % g gat

3. & I g

4. % T g

Question Number : 37 Question Id : 99836739259 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which Article of the Indian Constitution provides for setting up of Inter-5tate Council?

Options:

1. # Article 282
2. % Article ZE8
3. ¥ Article Z63

4 % Article 248

Question Number : 37 Question Id : 99836739259 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

AT AT T DT SIfeds, STl UNTg & 0 P W FLdl 7
Options:

1. ® arfeeg 262

2 % arfedg 263

3. ¥ arfedg 263

4 ® argedg 248

Question Number : 38 Question Id : 99836739260 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Cnly Indian citizens above ______ of age are eligible for appointment to the office of Governor of any state in
India.

Options:

1. % 35 years
2. ® 25 vears
3. % 21 vears

4. # 18 vears

Question Number : 38 Question Id : 99836739260 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
WRT B Tt T & Tt o U o8 Togis o ol et

Options:

1.9 35
2. % oo
3. 0% 219
4 % 1590

T T & T o Wl 1 AT T 8
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Question Number : 39 Question Id : 99836739261 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwho won Formmla 1 Singapore Grand Prix 201597

Options:

1. % Sebastian Vettel
2. ® Charles Leclerc

3. % Daniel Ricciardo

4. % Sergio Perez

Question Number : 39 Question Id : 99836739261 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
HIHAT 1 T v i 2019 fpae S t?

Options:

1. ¢ AT 93
2 % oed sae
3. % Zfe et
4. % giiar T

Question Number : 40 Question Id : 99836739262 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
'Rogers Cup’ is related to which of the following sport?

Options:

1. # Cricket

2. % Tennis

3. % Hockey

4. % Badrminton

Question Number : 40 Question Id : 99836739262 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T ww aieiET § & e g | geteT 5
Options:
1 ® ﬁ’ﬁlﬁ'—
2. ¥
3 % ETEE
4 % defiea
Arithrmetic Ahility
Group Number : 3
Group Id: 9983671213
Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit? : No
Break time: 0
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Group Marks: 20

Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

Arithrmetic Ability

Section Id : 9983671612

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions; 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 9983672006
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 99836739263 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Whatisthe valueof 2B - P+ 35 =3 xZ+8-7-(d w8+ 87

Options:

1. % -10
2. ¥ -14
3% -16
4 % 10

Question Number : 41 Question Id : 99836739263 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
28+?+3.5x3x2+8—?—(4><8+8]|fﬂ13|'|?rEEIT%?

Options:

1. % -10
z ¥ -14
3% -16
4 % 10

Question Number : 42 Question Id : 99836739264 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhat isthe value of 1 66 x 1 66 + 068 x 0 EE - 1.32 x 1 EE7

Options:
1.91

2. %0
3% 092
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4. % 108

Question Number : 42 Question Id : 99836739264 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

166 ®x 166+ 068 x0EE-1.32 %166 a:‘rmw%?
Options:

1.9 1

2. %0
3. % 039z
4. % 108

Question Number : 43 Question Id : 99836739265 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

e [

‘What is the value of E

12
s

% ?

5
W '~2 !

Options:
1. % 2[5

5 |2

2Y5
z ®

3.¥ 52
4. % 35

Question Number : 43 Question Id : 99836739265 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

[ %]—L"Z XPJIE

5 FT AT FIAT &2

Options:
1. % 2/5

5 |2

245
o ®

2.9 5|2
4. % 35

Question Number : 44 Question Id : 99836739266 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If 98A89E is divisible by 48, then what is the value of & + EY

Options:
1. % 10
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2. %15
3.¥8
4. % 9

Question Number : 44 Question Id : 99836739266 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Iie 95ARGE, 45 ¥ 0W=a S, 9T A + E FTHA FAT 57

Options:
1. % 10
2 % 15
2. ¥ 8
4 % g

Question Number : 45 Question Id : 99836739267 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which is largest among /16 + 2, /19 + 1 and /18 + /27

Options:

1.¥ /16 +2

2 % f1a+1

3 % 18+ 4/2
4. % all are equal

Question Number : 45 Question Id : 99836739267 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
V1B 4+ 2, 419+ 1 TM18 + /2 § T 319 T =T 27

Options:

1.v  J1e + 2
2 %1941
3.8 J18+ /2
4. % TR E

Question Number : 46 Question Id : 99836739268 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Average of 31, 42, 66, 73 and ¥ is 60. What is the value of X'?

Options:
1. % ag
Z % 7B
3. % B4
4. ¥ 328

Question Number : 46 Question Id : 99836739268 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
21, 42, 66, 73 TUTH &7 9\a 60 81 X FTAM 74T 57

Options:
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1. % 98
2 %76
3. % 54
4. ¥ 38

Question Number : 47 Question Id : 99836739269 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhat is 16 66 percent of 12.5 percent of 30 percent of £407

Options:
1. %8
2. %5
3.9 4
4 % 2

Question Number : 47 Question Id : 99836739269 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
640 & 30 NEaT & 12.5 Widad &7 16.66 Hidag F47 57

Options:
1. %8
2 %5
3.9 4
4 % 2

Question Number : 48 Question Id : 99836739270 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

R sold an article to E at a profit 50 percent, E sold the same article to C at a profit of 20 percent and C finally
solid it to [ a profit of 15 percent. If R purchased this article for Rs. 100, then at what price D purchased this
article from C7

Options:

1. % Rs 22425
2. % Rs 228.75
3. % Rs 21825
4 % Rs ZZ65

Question Number : 48 Question Id : 99836739270 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
R B @ U a%q, S0 Uid 9 & @ 0 ef=il, B = G0 a&q C @ 30 Wdad & AT O sl d2T C = 39 aFga: D & 15 aidad &
AT OF sl AAig R = 9 aeg 100 0 § |igr 4f, 91D 7 95 oeg C & 7250 Irg I a7

Options:
1. % 224 25 wy=t

o ® DG TS wE
S ® 318 25w
4 ® 236 5w
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Question Number : 49 Question Id : 99836739271 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Ramesh sold an article at the profit of 30 percent. If he purchases this article at 10 percent less price then he
will gain 40 percent. The selling price is reduced by BEs. 372 What 15 the initial cost price?

Options:

1. % Rs 8370
2. % Rs 49700
2. % Rs 10300

4. % Hs. 9300

Question Number : 49 Question Id : 99836739271 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T+ U g 30 WIE A & o UT S=in I 9% 51 aeg & 10 Widad o0 gea § wiiedT &, 1 39 40 uidad an s e gw
3?2@51‘3%@1'@%1 aﬂﬁfﬁﬂmqﬁqwa—%? e & e

Options:

1. % 8270 =g
2. % 9700 T
3. % 10300 70
4. % 9300 T

Question Number : 50 Question Id : 99836739272 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Three partners P, Q and R share profit such that & times the share of F is equal to 4 times the share of & and
equal to 12 times the share of B, What is the ratio of the profits of P, & and R respectively?

Options:

1. %652
2. % 5:6:15
3. %525
4 ¥ 2.3

Question Number : 50 Question Id : 99836739272 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT AR P, Q TR A FISAUFR aied & [P F eed BTE6 AT, Q F e F 4 Fawied § JoTR F e & 12 AT &
AT 21 AL P, O TUTR & #0771 ST 47 57

Options:

1. %6:.5:2
2 % L5615
3.%5:2:5
4 ¥ 2. 31

Question Number : 51 Question Id : 99836739273 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Two vessels of equal capacity contains juice and water in the ratio of 7 : 2 and 11 : 7 respectively. The mixture
of both the vessels are rruxed and transferred into a bigger wessel What 15 the ratio Of_juiCE and water in the
newr rrixture?

Options:
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1. % 17 1=
2 % 19:14
3.9 2511
4 % 11:24

Question Number : 51 Question Id : 99836739273 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
S SRR ST elTed sl ot H O T 6 FH 7 2 T 11 0 7 & SUTT | 5 ST a1 o Tosur bt foermar ST g a9 g 92w
H T T 5T AT ) Hﬁﬁmwﬁmmqﬁmagmw%

Options:

1. % 17:13
2. % 1914
3.9 2511
4 % 1124

Question Number : 52 Question Id : 99836739274 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

After € vears, a sum invested at simple interest at the rate of r percent becomes twice of itself. What is the
value of T'7

Options:

1. % 25/6
2 ¥ E03
2. % 507
4 % 25z

Question Number : 52 Question Id : 99836739274 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
6 T W, ¢ Wi T F T ST H AT S O Tear & T8 U 0w S g B TR v T 6T T 8

Options:
1. % 25/E

2. ¥ 50|32
3% 507
4 % 25)2

Question Number : 53 Question Id : 99836739275 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

& TUnner starts running from a point at 6:00 arm with a speed of 7 km/hr. Another runner starts from the
sarmne point at 2:00 armn in the same direction with a speed of 14 kumijhr. At what time of the day will the second
runner will overtalee the other runner?

Options:
1. % 920am

2. % 10am
2 0% 1020 am
4 % 10:15 pm
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Question Number : 53 Question Id : 99836739275 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T eTe U feieg & 6 Dogfg(q TH) 0% 7 T | wich ©ET 1 i & ShT U HAT g SH eTed 9l feeg # 8:00 qEig (i
TH) urﬂm:r%&rrﬁ 14 T HY. Aic 2T o Tid & SIZT WCH FdT 51 oo o Ty Ther S eImerh ugel e & ST T S

Options:

1. % 9:30 q@lg
2 ¥ 10:00 qEg
3. % 10:30 gmig
4. ® 10:15 2R

Question Number : 54 Question Id : 99836739276 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The distance betweeen place ¥ and Z 15 432 kim. An express train leaves place ¥ at 6:00 a.1m. and runs towards
Z at a speed of 72 krmjhr. The train stops on the way for 45 minutes. At what time the train will reach at the
place Z7

Options:

1. % 1215 pm
2. % 12:35 pm
I.% 1250 pm
4 % 1245 pm

Question Number : 54 Question Id : 99836739276 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T E T2 ﬁ:‘ﬁﬂ?fﬁ@:ﬁﬁﬁz CR: qzﬁqwaﬂiﬂﬂ@m}i H 6:00 Yaig (TUR.) W e T g 37 72 B dt faer &t
T & Z & 3 Ted 1 51 TelTa ! e B 45 e &@d T 51 (e | 801 2 0% o a0 H};ﬁl‘ﬁ‘?

Options:

1. % 12:15 Ty
2. % 12:35 g
3% 12:50 TG
4. % 1745 g

Question Number : 55 Question Id : 99836739277 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A, Band C alone can complete a work in 50 days, 20 days and 120 days respectively. If they together earn Rs.
22050 to complete the worl:, then what will be the share of both A and E together?

Options:

1. % Rs 18ES0
2. % Rs 162E0
2. % Rs 1E7EOD

4. % Rs 17550

Question Number : 55 Question Id : 99836739277 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25

&, B T C STohel ek &4 @1 FAe S0 T84, 80 T 72T 120 T8 # [T & T 31 Aig o A @ 000 Feh 22050 B0 FHTT
2 1A TUTE g1 %1 T feeaT a1 gi?

Options:
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1. % 18650 w7
2. % 16250 704
3. % 15750 T
4. % 17550 704

Question Number : 56 Question Id : 99836739278 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A& circle of radius 21 cmis converted into a right angle triangle. If base and height of right angle triangle are in
the ratio of 2 : 4, then what will be the hypotenuse of right angle triangle?

Options:

1. % 55 cm
2. % d4cm
2 % 55com
|

. % BEom

Question Number : 56 Question Id : 99836739278 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
21 & AT, T Il UF o &1 U GHEm H uivaida e mam 51 At aEemm T TR TT e TSR 30 4 8, @
FHR 0T TG 26T 0T T ST P Y

Options:
1. SEEAT

o B 4490
3. % 5o o
4 ® SCOHT

Question Number : 57 Question Id : 99836739279 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Radius of a solid cylinder is 23 cm and height is 26 ¢ I three hemispheres of radius 3.5 crm are removed
from each base of cylinder, then what will e the area of cylinder?

Options:

6825 cm?
-

7315 cm?
2

8415 cm?

9485 cm?

Question Number : 57 Question Id : 99836739279 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
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Options:

., 6825 .32
7315 . A2
2. W

8415 . HI2

9485 T.HT2

4 ®

Question Number : 58 Question Id : 99836739280 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The table given below shows the number of books of different subjects sold by a shopkeeper on a day.

- Number of
Subjects biok
Bl 180
B2 200
B3 190
B4 210
B5 230
B6 244

The number of B4 books is how rauch percentage more than that of B1 book?
Options:
1. % 1212 percent

=. ¥ 1B BE percent
3. % 2066 percent
4 # 2333 percent

Question Number : 58 Question Id : 99836739280 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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#r gEr
Bl 180
B2 200
B3 190
B4 210
B3 230
B6 244

E4 TFamet &l @m, B 1 Terarel @1 9y & a1t 0id o aiiéer 37
Options:

1. % 1212 Ui

2. ¥ 16 66 WidaT

3. % 2066 AEAT

4, % 2333 UFAT

Question Number : 59 Question Id : 99836739281 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The bar graph given below shows the nurmber of students appeared in an exam on different davs of a week.

3500 - 3200
2900 -
3000 - 2500 2700 7
2500 2200 -
2000 - 1200
1500 -
1000 -
500 -
ﬂ S T T T T 1
DI D2 D3 D4 D5 D6

Number of students

Days

what is the average number of students appeared for a exam per day?
Options:
1. % 2400

= ® 2500
5 & 2550
4 ® 2E00

Question Number : 59 Question Id : 99836739281 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
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Options:

1. % 2400

2. % 2500

3. ¥ 2550

4 ® 2E00

Question Number : 60 Question Id : 99836739282 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The line graph given below shows the number of fans of different companies sold by a shopkeeper in a month.

80 s
70 - e el
60 - S

50 e

40 -
30 4
20

10

Number of fans

Cl C C3 C4 C5 Cb6
Company

If & equals to the total number of fans sold of companies C1 and <2 and E equals to the total number of fans
sold of companies C2 and C5, then what is the ratio of 4 and B?

Options:
1.9 113130

2 % 120113
3 % 114115
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4. % 113: 111

Question Number : 60 Question Id : 99836739282 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

<Al e T T o U e Ta e SR el T ey i o U S il gaiar 5

30 - -0

60 i
50 4 o
A0 4

30 4

q&Y Y gEar

30 4
10
0 - ' ' 1 y

70 4 . &3 B -— o

Cl C2 C3 C4 C5

F9eh

CH

afe &, C1 TUTCS FUAT & Pl sk T U] T TEIT F aTey § 701 B, FUAT C2 FTCE o Pl aiel T U ] TET F alley &, al

A TUTE &1 ST &7 57
Options:

1.9 113: 130

2. % 120113

2% 114 115

4. % 113: 111

Group Number :

Group Id:

Group Maximum Duration :
Group Minimum Duration :
Revisit allowed for view? :
Revisit allowed for edit?:
Break time:

Group Marks:

Revisit allowed for group Instructions? :
Maximum Instruction Time:
Minimum Instruction Time:

Section Id :

Section Number :
Section type:
Mandatory or Optional:

General English

4
9983671214
0

0
No
No
0
20
Yes
0

0

rerleral English
9983671613
1
Online
Mandatory
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Number of Questions: 16

Number of Questionsto be attempted: 16

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section I1d: 9983672007
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 99836739283 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the part of the Ziven sentence that has an error in it If there is no error, choose To error,

How armused everyone (1) [ would be if they (2) | knows what really happened (3) | MNo error (4)
Options:

1. # How amused everyons

Z. % would be if they

2. ¥ knows what really happenad

4. % Noerror

Question Number : 61 Question Id : 99836739283 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose Mo error’.

How armused everyonie (1) | would be if they (2 | knows what really happened (3) | MNo error (4)
Options:

1. # How amused everyons

2. # would be if they

2. ¥ lnows what really happered

4. % Mo error

Question Number : 62 Question Id : 99836739284 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose Mo error’.

A greedy person (1) 15 like a man (2) | possessed by the dewil (3) [ Do error (4)
Options:

1. % A greedy person

2. ® iz like a man

3. % possessed by the devil

4. % Mo error

Question Number : 62 Question Id : 99836739284 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Find the part of the given sentence that has an error in it. If there is no error, choose Mo error’.

A greedy person (1) 15 like a man (2) | possessed by the dewil (3) [ Do error (4)
Options:

1. % A greedy person

2. % iglike a man

2. % possessed by the dewil

4. % Mo error

Question Number : 63 Question Id : 99836739285 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
[mprowe the bracketed part of the sentence,

Madhubani paintings (is) popular all over India.
Options:

1. % hawve

=z ¥ are

3% wll

4. % Mo improvernent

Question Number : 63 Question Id : 99836739285 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
[mprove the bracketed part of the sentence.

Madhubani paintings (is) popular all over India.
Options:
1. % have

2. % are
=% oyl

4. % MNoimprovernent

Question Number : 64 Question Id : 99836739286 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Improve the bracketed part of the sentence.

MNewer before had we (entering) the Principal’s office.
Options:
1. % entered

2. % enters
3. % enter

4. % MNoimprovermnent

Question Number : 64 Question Id : 99836739286 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
[mprowe the bracketed part of the sentence,

Mever before had we {entering) the Principal’s office.
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Options:

1. % enterad
2. % enters
3. % enter
|

. % MNoimprovement

Question Number : 65 Question Id : 99836739287 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative,

ohe was their to the outside world for almost two years.

Options:

1. % connecting
2. % connect

I, % COnnects

4 % connection

Question Number : 65 Question Id : 99836739287 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A seritence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

She was their to the outside world for almost two years.

Options:

1. % connecting
2. % Connect

3. ¥ Connects

4 % connection

Question Number : 66 Question Id : 99836739288 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& seritence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

wou likee sorme tea?!
Options:

1. % Shall

z % Would

3. % Does

4. % Could

Question Number : 66 Question Id : 99836739288 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A sentenice has been given with a blank to be filled with an appropriate word. Choose the correct alternative,

vou like sorme tea?
Options:
1. % Shall
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2. % Would
3. % Does

4. % Could

Question Number : 67 Question Id : 99836739289 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Fearrange the parts of the sentence in correct order.

F: an innovative

r dance choreographer
R shiarmulk 15

5. and popular

Options:

1. % PORS

2. % PRESO

3. ¥ RP5C

4 % SROP

Question Number : 67 Question Id : 99836739289 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Fearrange the parts of the sentence in correct order.

F: an innovative

i dance choreographer
E: shiamik is

5: and popular

Options:

1. % POERES

2. % FRSC

5% RPSO

4 % SROP

Question Number : 68 Question Id : 99836739290 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Fearrange the parts of the sentence in correct order.

F: throwing a log

2 the post regrets

E: wathdrawing snalke
5: of wood at the

Options:

1. % QFSR
2. % PQRS
2. % ROSP
4 % PSOR

Question Number : 68 Question Id : 99836739290 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Rearrange the parts of the sentence in correct order.

F: throwing a log

3 the poet regrets

E.: withdrawing snale
5: of wood at the

Options:

1. % QFSR
2. % PQRS
3. % RQSP
4 % PICR

Question Number : 69 Question Id : 99836739291 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the word that means the same as the given word.

AWATreress
Options:

1. ® Stupidity
Z. % lgnorance
3. ¥ alertness

4. % Join

Question Number : 69 Question Id : 99836739291 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the word that rmeans the same as the given word.

AvWAreness
Options:

1. # Stupidity
2. % lgnorance
3. ¥ glertness

4. % Join

Question Number : 70 Question Id : 99836739292 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the word that is opposite in meaning to the givenn word.

(3TIIN

Options:

1. ¥ Pleasant
2. % Bleak

3. % Accurate
4. ® Civilized

Question Number : 70 Question Id : 99836739292 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Choose the word that 15 opposite in meanng to the given word.

(3T1IT1

Options:

1. ¥ Pleasant
2. % Eleak

3. % Accurate
]

. % Civilized

Question Number : 71 Question Id : 99836739293 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the given question, four words are given out of which one word is correctly spelt, Choose the correctly spelt
W,

Options:

1. % Acquire
2. % Akquire
2. % Ackuire
|

. % Equire

Question Number : 71 Question Id : 99836739293 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25

In the given question, four words are given out of which one word 15 correctly spelt. Choose the correctly spelt
0T

Options:

1.9 Acquire
2. % Alquire
3. % Ackuire
|

. % Equire

Question Number : 72 Question Id : 99836739294 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt
W,

Options:

1. % Cematery
2. % Cemetary
3. ¥ Cemetery
4. % Semetary

Question Number : 72 Question Id : 99836739294 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt
woTd.

Options:
1. # Cematery

2. % Cemetary
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2. ¥ Cemetery

4. % Semetary

Question Number : 73 Question Id : 99836739295 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
In the following question, cut of the given four alternatives, select the alternative which best expresses the
meaning of the [diom Phrase.

At the eleverith hour

Options:

1. ¥ something of very high quality

Z. % someons who gets up early in the morning
3. # to appear suddenly without warning

4. % at the last possible moment

Question Number : 73 Question Id : 99836739295 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Ir1 the following question, out of the Ziven four alternatives, select the alternative which best Expresses the
Ireaning of the [diom Fhrase.

At the eleventh hour

Options:

1. # something of very high quality

2. % someone who gets up early in the morning
3. ® toappear suddenly without warning

4. % at the last possible momernt

Question Number : 74 Question Id : 99836739296 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the following question, cut of the given four alternatives, select the alternative which best expresses the
meaning of the Idiom Phrase.

At an armt's length

Options:

1. # to be always ready to serve
2. ¥ to keep at a distance

3. % to belost

4. ® not to be alert on opportunity

Question Number : 74 Question Id : 99836739296 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
In the following question, out of the Ziven four alternatives, select the alternative which best Expresses the
ITEaning of the [diom Phrase.

At an arm’'s length
Options:
1. ® to be alvays ready to serve
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2. % to keep at a distance
3. % tobe lost

4. ® not to be alert on opportunity

Question Number : 75 Question Id : 99836739297 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the word that can substitute the given sentence.

ne who does not express himself freely
Options:

1. ® Henpeck

2. % Jconoclast

2. ¥ [ntrovert

4. ® Emtrowert

Question Number : 75 Question Id : 99836739297 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the word that can substitute the given sentence.

Cne who does not express himself freely
Options:

1. # Henpeck

2. % lconoclast

2. ¥ [ntrovert
|

. % Extrowvert

Sub-Section Number: 2
Sub-Section Id: 9983672008
Question Shuffling Allowed : Yes

Question Id : 99836739298 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (76 to 80)
Cnaesticn Label - Cormprehiension

Read the following information carefully and answer the given questions.

Leadership is getting things done through people. Leadership is required because sormneone has to point the
way and that the sarme person has to ensure that everyone concerned gets there. The most familiar saying
about leadership is that 1eaders are born not made’. Like all cliches, there 15 somme truth in if, although, it
cannot be taken literally. There are many successful leaders around who demonstrated their abilities at an
early age and have never lookead back since. They have natural talents and although, they may not have
actually been born with thern, these talents have been fostered by their upbringing and experiences at school,
university or in the armed forces. Their charisma, inspirational qualities and ways of handling people comtbine
to produce a person about whorm everyone says he's a natural leader.

Effective leaders start with same natural talents and then they build on therm They are good at observing how
to do it and how not to do it. They learn from their experience and they keep on learning.

Sub questions
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Question Number : 76 Question Id : 99836739299 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
According to the passage, what is leadership?

Options:

1. % Being able to achieve goals with the help of people.
2. ® Telling people what is meant by sucrcess.

3. % Never to look back for support or help.

4. % Give direction and follow people.

Question Number : 77 Question Id : 99836739300 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Why carn it not always be said that 1leaders are born, not rmade'’?

Options:

1. #® It cannot be taken literally everytime.

2. % Leaders are not always born with leadership qualities.

3. ¢ Many have been fostered by their upbringing and environment.

4. ¥ The saying loses its importance in some situations.

Question Number : 78 Question Id : 99836739301 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhat cormbine together to produce a natural leader?

Options:

1. % Charisma, inspirational qualities and ways of handling people
2. % Role of heredity and environment

Z. ¥ Born talents for good observation of successful leader

4. % Zeal to lead people even when they do not desire.

Question Number : 79 Question Id : 99836739302 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
How do effective leaders learn?

Options:

1. % Through their upbringing

2. ¥ By cbserving other leaders

3. % Through their own experience

4 # Their followers

Question Number : 80 Question Id : 99836739303 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhich word from the passage means the same as determine?

Note: For this question, discrepancy is found in question/answer. So,this question isignored for all
candidates.

Options:

1. Concerned

2. Farmiliar
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3. Experiences
4. Establish

Question Id : 99836739298 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (76 to 80)
Cnaesticn Label - Cormprehiension

Read the following information carefully and answer the given questions.

Leadership is getting things done through people. Leadership is required because sormneone has to point the
way and that the sarme person has to ensure that everyone concerned gets there. The most familiar saying
about leadership is that 1eaders are born not made’. Like all cliches, there 15 somme truth in if, although, it
cannot be taken literally. There are many successful leaders around who demonstrated their abilities at an
early age and have never lookead back since. They have natural talents and although, they may not have
actually been born with thern, these talents have been fostered by their upbringing and experiences at school,
university or in the armed forces. Their charisma, inspirational qualities and ways of handling people comtbine
to produce a person about whorm everyone says he's a natural leader.

Effective leaders start with same natural talents and then they build on therm They are good at observing how
to do it and how not to do it. They learn from their experience and they keep on learning.

Sub questions

Question Number : 76 Question Id : 99836739299 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
According to the passage, what is leadership?

Options:

1. % Being able to achieve goals with the help of people.
Z. % Telling people what is meant by success.

3. # Never to look back for support or help.
el

. # Give direction and follow people.

Question Number : 77 Question Id : 99836739300 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhy carl it not always be said that leaders are born, not made'?

Options:

1. # It cannot be taken literally everytime.

2. ® Leaders are not always born with leadership qualities.

2. ¥ Many have been fostered by their upbringing and environment.

4 # The Saving 10ses itS rnportancs in So17e situaticns.,

Question Number : 78 Question Id : 99836739301 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What combine together to produce a natural leader?

Options:

1. % Charisma, inspirational qualities and ways of handling pecple
Z. % Role of heredity and environmert

3. # Born talents for good observation of successful leader

E|

. # Zeal to lead people even when they do not desire,
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Question Number : 79 Question Id : 99836739302 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
How do effective leaders learn?

Options:

1. # Through their upbringing

2. % By cbserving other leaders

2. % Through their own experience

4 % Their followers

Question Number : 80 Question Id : 99836739303 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

which word from the passage means the same as determine?

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all

candidates.
Options:

1. Concerned
2. Farmiliar

3. Experiences
4. Establish

Group Number :

Group Id:

Group Maximum Duration :
Group Minimum Duration :
Revisit allowed for view? :
Revisit allowed for edit? :
Break time:

Group Marks:

Revisit allowed for group Instructions? :
Maximum Instruction Time:
Minimum Instruction Time:

Section Id :

Section Number :

Section type:

Mandatory or Optional:

Number of Questions:

Number of Questionsto be attempted:
Section Marks:

Display Number Panel:

Group All Questions:
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General Hindi

5
9983671215
0

0
No
No
0
20
Yes
0

0

eneral Hindi

9983671614
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Online
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16

16

20
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Sub-Section Id: 9983672009
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 99836739304 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T M7 sreg, oy ey S
AT + T

Options:

1. % aieerr

2 o aTiemeT

3. % arfay

4. ® TR

Question Number : 81 Question Id : 99836739304 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
20T ™7 s1eg ot GTE S i

T + W
Options:

1. % aiEar
2. ¥ aTidwE
3. % aTiEm
4 % gww

Question Number : 82 Question Id : 99836739305 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TR § § ®H-91 o5 44 =g 27
Options:

1. % s

2. ® arrd

3. %37

4. o ST

Question Number : 82 Question Id : 99836739305 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T # & ST deg 399 =g 57
Options:

1. % e

2. %

3. % 37

4. ¢ TE=2T

Question Number : 83 Question Id : 99836739306 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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20T T aTec T TR ST

TR

Options:

1. ¥ ToqET TAT

2. % g e
3. % fmrEns

4. ¥ T e

Question Number : 83 Question Id : 99836739306 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T2 T ATeg &7 AT 19 HiFm

T

Options:

1. % qoqEy qHE

2. % g aue
3 % fmramEE

4. ¥ e 9am

Question Number : 84 Question Id : 99836739307 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
20T TIT S1eg o7 Uoiaa=iT ST i

CIIECES
Options:

1. g
2. % OarET
3 % T
4. ® REd

Question Number : 84 Question Id : 99836739307 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T2 ™7 sre &7 Ui = i

Fitdg
Options:

1. ¥ fgm
2. % OFT
3% T
4. ® IWEA

Question Number : 85 Question Id : 99836739308 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T I ST T A Seg ST T

e HTT o TR T Rl |y H 22 e
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Options:

1. % MRS

2. ¥ AT

3. % arey
4. ® ETATEH

Question Number : 85 Question Id : 99836739308 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TR T e T Al deg AT direT

T | o Tel T o1 LT 9T § =2 e
Options:

1. % sMET

2. ¥ araTe

2. ® argREy

4. ¥ aTEEw

Question Number : 86 Question Id : 99836739309 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TreTeiET oo o & 1T Jeg @ IR [DeiT g AT ST

Options:
1.9 T
2. % T
3. % e

4. % N

Question Number : 86 Question Id : 99836739309 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T o § =T dee #7 IRT TE s A1 SiFam

Options:
1. %

2
R B
E|

Question Number : 87 Question Id : 99836739310 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
oy Ty e # IR e A Fem

Options:

1.9 &
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Question Number : 87 Question Id : 99836739310 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
o0 0 e # IR g A S

Options:
1. ¥R
o ®
3. % 9x
4 ® g

Question Number : 88 Question Id : 99836739311 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T Iy areg, T qieeT geg ST H

TETie
Options:

1. ®
2 ® e
3. ¥ T
4. % T

Question Number : 88 Question Id : 99836739311 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Ta 7T are 7 qiea deg AT FI
T

Options:

1. % 1T

2. % e

3. ¥ T

4, #® T

Question Number : 89 Question Id : 99836739312 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T3 T e T e AT

HETaaT I = HEAT o 2
Options:

1. ® HigTer qyr

2 % amuf qFeTer

3. % G gaaTe

@ Teachingninja.in



4. & quf FeTa

Question Number : 89 Question Id : 99836739312 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T3 T Terr T A AT F I

AT AT = TEAT o &N
Options:

1. ® HigTer qgwr

2 % amuf T

3. ® O dwTe

4. & uof qFwTe

Question Number : 90 Question Id : 99836739313 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TeraIT T ATer T MR T ST & ATTd ST

THA o O 1 F1H G 9T & WA AT
Options:

1. ® 9O g

2. % iy A

3. ¥ g 9

4. % ITATIE T

Question Number : 90 Question Id : 99836739313 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
TeraIT T aTer TR MR T ST & AT S )

THA O 1 T1H G 2T 3T e @
Options:

1. ® 9O aeFg

2. % Ty e

3. ¥ Hgm A

4. % IATATE =T

Question Number : 91 Question Id : 99836739314 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tay Ty e § TR TR T g B A1 die

TE AU ST & A S T2
Options:

1. % Aegy 7ey

2. % W yEy

3. % o0 qEy

4. ¥ a9 yEy
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Question Number : 91 Question Id : 99836739314 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Teur Ty AT | o W T e & A9 S

TE STHICERT AT & AU 2 5T 8l
Options:

1. ¥ Aegy qey

2. % o gEy

3. ® IO gy

4. ¥ S Yy

Question Number : 92 Question Id : 99836739315 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
o o = | Tore e Ty T Suen TR AT I wEerTe e

TE R H AT W H AT
Options:
1. % 1]
2%
3% |

4 % 7

Question Number : 92 Question Id : 99836739315 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tomy T =Tery # T e gy o o TR ST S g e

T G W AGT g H AT
Options:
1. % 1]
2%
SRR

4 % 7

Question Number : 93 Question Id : 99836739316 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T T ©f T2 T IR gETat @ oaE @

Options:

1 ofE T aa

2. ® FH IAW T 2T 2
3 % dumae R

4. # FA—dTd == T

Question Number : 93 Question Id : 99836739316 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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T v o for o 2R gRTe @ EEs

Options:

1.9 o T ad |

2 % FHIAW I AT §
3 % AEFv T

4. ® ST &= T

Question Number : 94 Question Id : 99836739317 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Tour T gETaY T ERr and S d

T Tt

Options:

1. % ST gmr

2. % Tgd TR AT
3. % IgF AT

4. ¥ Hag g

Question Number : 94 Question Id : 99836739317 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TeTr T geTa @ ERr el A i

a1 T

Options:

1. % FagreET

2. ¥ ggd R AT
3. % gegw g

4. ¥ g g

Question Number : 95 Question Id : 99836739318 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
fem et # & endyr g @ dfs
Options:
1.9 -

2 -
3 %
4 % ©

Question Number : 95 Question Id : 99836739318 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Ta g Rt # & adar g AT i
Options:
1.9 -

2 %
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Sub-Section Number: 2
Sub-Section 1d: 9983672010
Question Shuffling Allowed : Yes

Question Id : 99836739319 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (96 to 100)
Cuestion Label - Comprehensicon

TR 1 e U T Hodder W o = feidhedt # & |yt fdeed o

HETCHT TITEfT Sff @7 (W 2 SiFgelt 1869, H UIeIgr # Faim 2 et st 2 eacrga-: Tl o 1T AT AT T 2 TIGTH'IE"

HETCAT Tt 3 Ewer W%m%ﬁm?ﬁuréﬂrﬁfmﬁwmm ﬂ%r Ermg'ﬁrﬁ:rﬁrﬁrﬁrmﬁ et
ST o T o T wieie T & e, ToraT AT & i mqﬁsﬁ&rraf%maﬂm'rqm EakiIEcE n@—m
TITfT AT ST eI 07— "HET 20H T &Y SITedT U ST 51 Hed 0T I &, Sigal 36 ar- EI'TFET%FH AT T F A A
AR T JEATT ATEa1, el oK ifd o Tt @i o

Sub questions

Question Number : 96 Question Id : 99836739320 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Options:

1.9 2 afgat 1869

2. % T et 1586

3. % 10 a[Fgerw 1583

4, # 1 3fFgall 1596

Question Number : 97 Question Id : 99836739321 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
HETEAT Tt ST THTTE TTeT T 79 F47 &7

Options:

1. ® gifdad
2. % I
5. % EEg R
4 ® g wre

Question Number : 98 Question Id : 99836739322 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

il <ft 3 e T et 3 T @ < g o
Options:

1. % fgar

2. ¢ s

3% F

4, ® g
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Question Number : 99 Question Id : 99836739323 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25

HEToAT TITET < BTG 1o &1 SEaTTT Tk aicteld 0 1 2017
Options:

1. & arfgan, Je oflK afd

2. % TgEr amey ot A

3. % dieigE, g S um

4 % gigiee T st o

Question Number : 100 Question Id : 99836739324 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
JUGH T HT UG S T g
Options:

1. & mgTeAr el - TR o |ow i arfgar
2. ® TETCHT TR - STEIE & e

3. % mgrenr et - EAT @ g

4. % gt Aqrert @ g

Question Id : 99836739319 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (96 to 100)
Cnaesticn Label - Cormprehiension

TR T £ U TT Hodiehr W o = ferdhedt # & |51 Toded ]

HETCHT T i &7 <17 2 SFe 1869, H Ueet # Fall 2m Tl ST 2 SIege @i Q8 Ieci g o T BT ST 81 e -
HETCHT T & HATTE TTeTe g1 TTet STt 0 S & @l a7 TTeTe g #e AEaleie oo & a9 59 [o Tehdy &0 & #gTeAr et
ST &l T T T SIieig T 1 2T, Tkl SATa7 & Faiiier sq = THA STgar &1 TRl -7 SIT STIgHT &7 Ted] & HE S AR TEAT
TIT2RT SiT T ST 91— "FRT o Hoay & S1fEeT O ST o1 Jod BYT AT 8, SITeaT 39 U1 &7 |re” el =i = 247 F 344 a2
ATEIE T ST ATEET, Fea ofIF a1id & aieteld 21 2

Sub questions

Question Number : 96 Question Id : 99836739320 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Options:

1. 9 2 a/gay 1869

2. % § 3[Fga 1556

3. % 10 aTFgar 1583

4, ® 1 3Fgat 1596

Question Number : 97 Question Id : 99836739321 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
HETEAT TITelT ST EHTTE TTe T 79 F47 57

Options:
1. % gidas

2. % T
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3 ¥ Eeguw
4 ® o T

Question Number : 98 Question Id : 99836739322 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25

il <ft 3t e T et ¥ T A < g o
Options:

1. % g

2. ¥ arfgan

3. % FE

4. % gqug

Question Number : 99 Question Id : 99836739323 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

HETCAT TITET = STTE e &1 qEana fohe e o &1 off?
Options:

1 sifga ged S i

2. % 5 ey W A

3. ® Fiegm, g o um

4. % srigie, Tear sl e

Question Number : 100 Question Id : 99836739324 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
I TR T Fug e T g
Options:

1. AgTHT TR - AT oW He ST arinar
2. ® mgTenT e - ‘A E T e

3. % HgToAT TITET - AT T e
el

R ot Aaart @ I
Disciplinel

Group Number : 6
Group Id : 9983671216
Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit? : No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
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Disciplinel

Section Id : 9983671615

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Pandl: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 9983672011
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 99836739325 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhich of the following isfare principle(s) of growth and development?

[. Developrment never follows a pattern

I1. Principle of individual difference

I1I. Frinciple of integration

IV, Developrment proceeds from general to specific responses

Options:

1. % [ Il and III
2 % [ Il and IV
3901 1T and IV

4 % [ I, Il and IV

Question Number : 101 Question Id : 99836739325 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

ForfafaT 2 & F a1 gy FeT T Ty Tagra 243

I fererme Uep Wit HT 7 ST Ft Fg! ol o)
I1. aiveel T w1 Tegia

111 T T T g
IV, e T iR | & atde nid i & s g

Options:

1. % [, 11 Ferlll
2. % I, I IV
9 01, 11 9o Iy

4 % [ I, 11 Far 1

Question Number : 102 Question Id : 99836739326 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

which of the following is NOT one of those important factors which have been identified by a psychologist
that influence creativity?

Options:
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1. % Creative problem approach
2. % Creative product approach
3. ¥ Creative person approach
4

. % Creative process approach

Question Number : 102 Question 1d : 99836739326 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
FERET # § B9 8§ UF A9E1-e 2R Tga T 39 Agcdq0l FRET § & UF T8 § A Ga-Tc/Emd] & TIdad #0d 27

Options:

1. % GA-TcHE JHET JUTTH
2. % FoHCA® Io0Tg SOIH
3. ® FAHT Sdie SUTTH
4, ¥ FAACHEF NiEAT JUTTH

Question Number : 103 Question Id : 99836739327 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following abilities form creativity according to Guilford and Torrance?

[. Fluency

II. Interdependency
III. Persistency

IV, Originality

Options:

1. % 1,11 and III
Z % 11,11 and IV
29 and IV

4. % 1 IL I and IV

Question Number : 103 Question Id : 99836739327 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TFBIE T2 THE ¥ SFJa” FEaArEd 8 9 &9 41 AT GTcH®dT 300 Fd 1 57

[. WaTg
I1. aF=a=Trdaar

I11. 23
IV,

Options:

1. % 1,11 Ter Il

. %11, 11 99T IV
39 I qem Iy

4. % 111, 111 92T 1V

Question Number : 104 Question Id : 99836739328 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following is NMOT a non-standardised test or subjective method of assessing personality?

Options:
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1. % Score Card
2. ¥ Graphology
3. # Sociometry

4 # Anecdotal Records

Question Number : 104 Question Id : 99836739328 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
FrTaT i & 319 €t cafed 3 Yo ST T IR e AT s T &7

Options:

1. ® g &2

2. & TR

3. ¥ ga=mEE

4. ® TwETeA NEie

Question Number : 105 Question Id : 99836739329 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following isjare tool(s) of thinking™?

[. Mind maps
II. Cognitive Kesearch Trust (CORT)
[II. Concepts

Options:

1. % BothIandIl

Z. % Both II and III
3. % Both [ and III
4. % 1, 11 and III

Question Number : 105 Question Id : 99836739329 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
e & & &1 a1/ & 9= &7/ F J0F 5/ 57

1. AT A
I1. FeHTeA® o 2o (CORT)
[T, S ermomT

Options:

1. % [ 99l

Z % 11 el
3. % 1 J9rlll

4. % 1, 11 qor il

Question Number : 106 Question Id : 99836739330 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhich of the following is NOT a general characteristic of an Introvert according to Carl Jung?

Options:
1. % Neglectful of ailments and personal belongings

2. % Rather reserved
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2. % Lacking in flexibility

4. % Easily embarrassed

Question Number : 106 Question Id : 99836739330 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
Frafead & & o9 |1 06 <7 & SR Ud S qd! & U@ qErg Daudr A5t 87

Options:

1. & smrivat e safih T |TH @ JuaT
2. % e g Wi waTE

3. ® oI TEd

4. ¥ T GHERE 5T =T

Question Number : 107 Question Id : 99836739331 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
wihich of the following isjare negative non-verbal reinforcement(s)?

[ Mods and srriles

II. Expression of annoyarnce
[1I. Expression of impatience
[V, Sneering

Options:

1. % 1,11 and III

z %I, 11 and IV
3% [l and IV

4. % 111, 11 and IV

Question Number : 107 Question Id : 99836739331 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

AT # § F99 A1 ARRcHE T-HEw Fald 0 g7

Options:

1. % 1,11 TerIil

z W11, 11 99Ty
3% LI qer Iy

4. % 111, 111 92T 1V

Question Number : 108 Question Id : 99836739332 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Wwhich of the following Cognitive Research Trust (CORT) tool allows the individuals to choose from a nurmber
of different possibilities and alternatives?

Options:
1. # Plus, Minus, Interesting FMI)
2. % Consider All Factors (CAF)
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3. # Alternatives, Possibilities, Choices (AFC)

4. % First Irnportant Priorities (FIF)

Question Number : 108 Question Id : 99836739332 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25

Wﬁﬁaﬁqmmﬁﬂﬁmmomj FUHO S R T HATemTaTT qT et # wEar § F gee T e

Options:

1. % ToR, ATEAE, SEEieaT (PMI)

2. % Fglet ofTA haed (CAF)

3. ® aFeddided, UM ieiee i, digad (APC)
4. o Ed EIE 2 R d (FIP)

Question Number : 109 Question Id : 99836739333 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

which of the following type of discipline is developed as a revolt against the authoritarian discipline many
adults had been subjected to during their childhood?

Options:

1. # Authoritarian discipline
2. ® Democratic discipline
2. ¥ Permissive discipline

4. % Motivational discipline

Question Number : 109 Question Id : 99836739333 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
ﬁﬂﬁgﬁﬁﬂ‘ﬁrﬂmmmwm@ﬂwﬁﬁawmmﬁ%sﬁmﬁmméﬁﬁﬁﬂ%wﬁﬁﬁﬁ
IS

Options:

1. % FEETST A

2 % FiemdTieaw srgarad

3. ¢ argulew argamEd
4 % ATTRUTCHE Sgamad

Question Number : 110 Question Id : 99836739334 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following devices can be used for improving the power of thinking?

[. Models of teaching

II. Remedial teaching and instruction
I1I. Curriculum developrnent

[V, Evaluation and diagnosis

Options:

1. % [, Il and III

2 % 11,1l and IV
3. % [l and IV

4 % 1 11, 11l and IV
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Question Number : 110 Question Id : 99836739334 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
dier & ot @t age & o el § & fore ST & qu S =7 dw@ar 27

1. Tt oF Ale

1. I0EWIeAS T For fHaeae
111. W& fawrd

I . Hearmere qaT g
Options:

1. % 1,11 gorr Il

2. % 10 I qem vy

3. % [ 101 eIV

4. 9111, 101 eIV

Question Number : 111 Question Id : 99836739335 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

who considered "Society as a systern of usage and procedures, of authority and mutual aid, of many
groupings and divisions, of controls of human behaviour and of liberties”?

Options:

1. % Maclver and Page
2. % Bandura

2. % EL. Thorndike

|

. % Ballord

Question Number : 111 Question Id : 99836739335 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T OO o &0 H HE T [T 57 o

Options:

1. % Tmarsay ToT e
2 ® gz

3. % um gHEEw
4. & SAE

Question Number : 112 Question Id ;: 99836739336 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
what function is performed by education in every society?

[. To socialize the members of society and transmit the culture to next generation
I1. To fulfill society’'s needs pertaining to hwman resource

Options:

1. % Conly [

2. % Only II

3. % Both [ and II
4, % Meither [ nor [1
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Question Number : 112 Question Id : 99836739336 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
e TAT Ty @ aar w giaT a7

[. TAT & At FT THT T FAT TLT ST U1 T T G ia Wi FeT
1. WI-Tel e & e T thi e | T oiegut e

Options:

1. % Fae]

2. % g ll

= o [ Furll F=t
4. % FTErIATETII

Question Number : 113 Question Id : 99836739337 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25

______ 15 a process through which corrrrmnity transact or educate their members about the norms and values
of the society.

Options:

1. % Socialization

2. % Politicization

2. % Social stratification
|

. % Social ermpowermment

Question Number : 113 Question Id : 99836739337 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
______ e U Ui & s ATee | S ST d5Eal | qA & eS| auT e o a1 | aarar ar T war g

Options:

1. o @it

2. ® T e

3. ® FTRE T
4. % FHTN® i

Question Number : 114 Question Id : 99836739338 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The main parties contributing to the success of educational reforms are first of all the local conrmunities.
which of the following is not part of local comrrmunities?

Options:

1. % School head
Z % Governrment
2. % Parents

4. ¥ Teachers

Question Number : 114 Question Id : 99836739338 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Aféger et & FheaT § TR S AT T Uy SN S e fid 81 e § € B9 s ager @ BT a5 67

Options:
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1. ® e g
2 ¥ WaEN

3. ® arrEE
4. ® s

Question Number : 115 Question 1d : 99836739339 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following problems can arise due to non-use of a child’s native language?

[. Alienation

II. Non-participation
I1I. Large scale dropout

Options:

1. % Only III

2 % [TandIll
2. % landll

4. %1, 1l and III

Question Number : 115 Question Id : 99836739339 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
] T WY T FUINT e 1 F o R T § @ S aen 300y 5 J9dl ae

[ &

I1. SFFATIET
I11. o2 TAT 0% STarae

Options:

1. % Saarlll

2. % 11 91
3. % ] Full

4. %1, 11 qamlll

Question Number : 116 Question Id : 99836739340 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
Howwr iany life skills are there?

Options:
1. % 9
Z ¥ 10
3. %5
4. % B

Question Number : 116 Question Id : 99836739340 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ToFa= e ®iae 519 57

Options:
1. % 9
= ¥ 10
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3. % B
4 %3

Question Number : 117 Question Id : 99836739341 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
which of the following can be a way for involving cormmurnity?

[ Monitoring the attendance by corrumunity representatives
I1. Teaching wocational skill to students with support from cormmunity

Options:

1. % only 1

o ® only I

3. % Both [ and II
4. % MNeither I nor 1

Question Number : 117 Question Id : 99836739341 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
FRTAET # & ® AT ST F T AT @ 7 T TR 51 a9l 57

1. wqera & aidtatet grr Iuied & T
11, TS & AW & AT T3 1 SATaaTad & 14 eamT

Options:

1. % Saa]
2. % Fadll
3.9 1 Tl

4, % qTErI ATETII

Question Number : 118 Question Id : 99836739342 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following is true about irnpact of colonialism in India?

Options:

1. % Foreign goods were given free entry in India

2. ¥ Indian 2oods were rade tax free when sent out
2. % India becarne largest importer of raw cotton
4

. % Creation of jobs for weavers

Question Number : 118 Question 1d : 99836739342 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
VR A IUTSIETE, & WATT F o H Tgierad # & 70T a1 27

Options:

1. Tadait s art @ ad o g Weldr oo =
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® gl o Ty T T e
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Question Number : 119 Question 1d : 99836739343 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Education was put in concurrent list through which constitutional amendment?

Options:
1.9 42
2. % 43
3% 41
4 % 44

Question Number : 119 Question Id : 99836739343 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TSraTT w1 Tepey SererTi-rer Taiterd @ WTedd & HHad [ Gt § &7 737 217

Options:
1.9 42
2. % 43
3% 41
4. % 44

Question Number : 120 Question Id : 99836739344 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The function of education is to create human beings who are integrated and therefore they are ______.

Options:
1. % fools

2. ¥ intelligent
2. % noteworthy
4. % rich

Question Number : 120 Question Id : 99836739344 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TSreTT T @1 39 Ao B ST BidT & AT Uehigd & qe gdfeig o ______ A

Options:
1. % gd
2. ¥ THser
3. % Fmuitr
4. ® g

Disciplinez
Group Number : 7
Group Id: 9983671217
Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit? : No
Break time: 0
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Group Marks: 20

Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
Discipline
Section Id : 9983671616
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions; 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 9983672012
Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 99836739345 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following is true about present education?

[. It is concerned with outward efficiency.
II. It develops the man as a whole.

Options:

1. % Only 1

2. % Only 11

2. % BothandII
4

. % Meither I nor 11

Question Number : 121 Question Id : 99836739345 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
TefataT & & @i a1 ad A e & aed # ao 27

1. T ATAF JHAT & HT TrITET 51
I1. =% Aer @1 ol &0 | feferiera @ar

Options:
1.9 Fadl

2 ® Faell
3. % [ Furll ==t
4. % qUErIATETII

Question Number : 122 Question Id : 99836739346 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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which of the following factors influence the actual teaching learning processes and practices?

. Eole of teachers

[1. Beliefs and assurmption

I1I. Modes of evaluation

IV, Frocesses of classroorm interaction

Options:

1. % [ Il and III
2. % I 1T and IV
2% [l and IV

4 %111 1l and IV

Question Number : 122 Question Id : 99836739346 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TaeiET 8§ & 9 & TRE aIediod 19ra0T— STTETe Wieramet! T9T ST &1 TTdd #id a7

I férerent & sqfirar
11, Terarme T9T Loy

I11. Hearmepe] o TEiewT
I T GO di wieraT

Options:

1. % [, 11 Ferlll
2. % I1, 11 9= IV
2% 1000 qem v

4. %111, 101 IV

Question Number : 123 Question Id ;: 99836739347 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
Wwhich of the fOllD\ﬁ.?iﬂg lmitative behaviour involves acquiring new behaviour as a result of observing a model?

Options:

1. % Modelling effect
2. % Inhibitory effect
3. % Eliciting effect
K|

. % Dis-inhibitory effect

Question Number : 123 Question Id : 99836739347 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
FEmET # 9 o argaie g § 0F Mg o S e & ON0THeaey ST sHag K TglT ST ATHH 57

Options:

1. % amesiia wamer
2. % THATCHE T T
3. % el Tad
4. ® SEHATCHS TATT

Question Number : 124 Question Id ;: 99836739348 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Wwhich of the following statement regarding learning by doing fparticipation is correct?

[. It promotes self-learning and self-assessment.

I It gives real experience of solving real life problems.

I1I. It is & way of combining thinking and reasoning with the practical act of manipulating objects for solving a
problerr

Options:

1. % landlIl

2. % [IandIIl
2 % JandIll

4 % [, 1l and III

Question Number : 124 Question Id : 99836739348 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

- T AT T BT SITETT 3 gery # feieiaT § 8 @19 o1 e w8 e

L. 2T %l SITENTH T Tl STt 1 ST ol 3]
1. 97 aTea eI Siad &1 Tueanl @1 Gegn & a0 Sgdd 27_
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Options:
1. % [ J9ll

2. % 11 Farlll
3% [ Fgrlll
4 % [, 11 99rlll

Question Number : 125 Question Id : 99836739349 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Wwhat should a teacher keep in rmund while malking lesson plans to encourage discovery learning in hisfher
students?

[. The content of the lesson plan should be the responses of the students.
II. The lesson plan should be developed from a previously determined logical structure.

Options:

1.9 Only [

2. % Only 11

2. % Both[andII
4. % IMeither I nor II

Question Number : 125 Question 1d : 99836739349 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T ST 1 S0 F1a1 § @0t SITETH @1 Aicalied H & o] 018 TT a1d GH 2 1d @7 £ T ey

I.wﬁmﬁwﬁmﬁﬁwﬁﬁmﬁwgﬂ%ﬁaﬁm
I1. UT& TIIT 1 Uget & Torerifeg aegl aeamT & ToFIT AT =R

Options:
1. ¢ Had ]

= B Sl
3. ® [ Furll
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4. % qUErIATErII

Question Number : 126 Question Id : 99836739350 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
when a child is made to demonstrate . a5 normal occurring behaviours, then we say that the behaviour

modification has taken place in the child.

Options:

1. # elicited behaviour

2. % eritted behaviour

2. % both elicited behaviour and ernitted behaviour

4. # Neither elicited behaviour nor ermitted behaviour

Question Number : 126 Question Id : 99836739350 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

ﬂaq%f]ﬁagﬁ ______ F T & | 5 Ol g o & § WSidd Sedal AT 5, 3 57 F5d & 10 o] H cddg ¥ @1 S0aa gl
=T

Options:

1. % 0T 92T T S0aE

2 % wETTie® wEg e

3. & UTH T TRIT SHER . T A TTed cHag i gl

4. ¥ T FT U9 TopaT TR SRR AT 9 B TS cadge

Question Number : 127 Question Id : 99836739351 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

According to Lev Wygotsky, through which of the following stages does a child progresses in developing
language functions?

[. Egocentric speech
I1. Social speech
I11. Inner speech

Options:

1. % Tandll

2 % [TandIll
2. % IandIII

4. %1, 1l and III

Question Number : 127 Question Id : 99836739351 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
iy et & erga, ARt e o o | uw o el d & e sreT & aread | Wit #a T g7

[. 375 thiga A
I1. FTATRE (ATEET) T
I11. AF T AT

Options:
1. % Ia9rll

2% 1 qTIII
5% [ FuTlll
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4 % [ 11 g9l

Question Number : 128 Question Id : 99836739352 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the fOllOW‘iﬂg is[are the limitations of using learner—centred approach in Cassroorrnt?

[ Difficult to increase the achievement level of all the students on an average within a limited period of time
I1. It requires teachers who are very sensitive to the needs of the students

Options:

1. % Only I

2. % Only 11

3. % Bothland Il

4. % Meither I nor 11

Question Number : 128 Question 1d : 99836739352 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tt # o Fa7 wym | 2redaT dhiad JUTTH &7 JUGT Fe- S HH 87

1. ST FAaTats | aited = & it Hemidal & Iuaied a0 &1 g =T 16 gl
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Options:
1. % fadl

2 ® Al
3. ¥ [ Fomll gt
4. % FTErIATETII

Question Number : 129 Question Id : 99836739353 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
which of the following isare the characteristics of an effective method of teaching and learning?

I. Matches the mental ability and needs of the students
II. Develops critical thinking of the children
[1I. Provides a scope for developrnent of life skills in childrern

Options:

1. % Tandll

2. % [IandIIl
2. % JandIll

4 % [ 1l and III

Question Number : 129 Question Id : 99836739353 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TraferiT & & a7 g wardt T qar srhémy Tt & awa 87

1. Teremidiat @ Ariemr airaaTeTt T sasTea et & A FET
I1. =it § ga-TcHs T [dwieT sedr 21
I11. =t # Sftee wtare o e & T80 U e Suaes St 2

Options:
1. % 13971l
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= % 11 FuTlll
S.% [ FETll
4 %1 I 9l

Question Number : 130 Question Id : 99836739354 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwho said, "4 project is a whole hearted purposeful activity proceeding in a social envircnmernt”?

Options:

1. % John alford Stevenson

=. % Dr. williarm Head Kilpatric
2. % Eallord

4 % EL Thorndike

Question Number : 130 Question Id : 99836739354 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
o T T T, e W U JR IR TRy T T ST e e § 6t ga | OaT T SaT g

Options:

1. % J19 eI Tl
2. ¢ =T Tfeam g et
3. % gans

4. % g ue. gHzEE

Question Number : 131 Question Id : 99836739355 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which types of intelligence according to Gardener enables individuals 1o cormmmunicate?

Options:

1. % Linguistic

=. ® Visual spatial

2. % Bodily kinaesthetic
4

. % Musical

Question Number : 131 Question Id : 99836739355 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
HTRAT o ST T WeRTR T e iT | o1 TG, il § T4 s=Ta 1 7

Options:

1. % {my

2. % gie-wriae

3. ® gt medtEdT
4. ® giigad

Question Number : 132 Question Id : 99836739356 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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which of the following statement regarding learning -centred approach is/are correct?

[. It is basically learner-centred, but includes teachers in the process of learning in a classroom situation.
I1. It helps students acquire competency in skill areas and creates lifelong learners.

Options:

1. % Conly [

2. % Only II

2. % Both [ and II
4, % Meither [ nor [1

Question Number : 132 Question Id : 99836739356 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
SrtErTy e U % Hey # HEiatEs & 9 @9 |91 e et gy

Taramett e 5197 8, TR T Uieieeria § areer SITETe niEaT H# e 51T 8
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Options:

1. % Fadl

2. % Fadll

3. 9 [ Farll 3Et
4. % qUErIATErII

Question Number : 133 Question Id : 99836739357 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
wihich of the following features does all Cooperative learning lessons have?

[. Students worlks in groups to master acaderri materials
I1. Groups are heterogeneous consisting of high, average and low achievers
I[II. Reward systerms are group oriented rather than individually oriented

Options:

1. % Tandll

2. % [landIIl
2. % JandIll
4 %1 I and III

Question Number : 133 Question Id : 99836739357 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

FEfetaET & & ®= d7 Eawary et age arfdmy st # et 87
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Options:
1. % [ 397ll

2. % Il qarlll
3. % [aurlll
4 & [ 11 arlll
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Question Number : 134 Question Id : 99836739358 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Wwhich learning method is observed when students from different schools are working together over the
internet on A shared assignrent?

Options:

1. % Collaborative learning
2. % Cooperative learning

3. # Learner centred learning

4. ® Learning centred learning

Question Number : 134 Question Id : 99836739358 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

I T ey Tt St o g 1§ e g Tenaat & Hemeif Setae U Uw 9wy Uw 9T SMEAHe 0§ 9 O 517
Options:

1. ¥ OEgeRE SITETH

2. % Fgen ey

3. % Tt g srfdmmm

4. ¥ grtemm S srEmm

Question Number : 135 Question Id : 99836739359 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
______ exhibits a basic level of order, but the teacher still struggles to maintain it.

Options:

1. # Dysfunctional classroorm environment
2. ¥ Adequate Classroor environmernt

2. # Orderly restrictive learning environmert

4. ® Orderly enabling learning environmernt

Question Number : 135 Question Id : 99836739359 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

______ H U JATST T W S §1aT &, oifer dal o eredme 56 o= Ta o Toiy 9o &7 gl
Options:

1. % giemaT P araree

2. ¥ Ui Tyl e

3. % il AT ST ae e

4, ¥ ot Haad st amaTae

Question Number : 136 Question Id : 99836739360 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
According to RTE Act, a teacher will spend rinirmrr

Options:
1. # 30 hours
2. % 45 hours

3. % B0 hours

in teaching including preparation hours in a week,
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4. % 75 hours

Question Number : 136 Question Id : 99836739360 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ATETS SATENIT 3 STgaw, UF TS U aumg § 9 3 o aigg (e & ey ______ FITIT

Options:
1. % 309

o o 45 Hr
3 ® B0wd
4 ® 7our

Question Number : 137 Question Id : 99836739361 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
In different languages, the number of consonants vary from 5-10 to

Options:

1. % 90-100
2. % §5-75
3. % B0-65
4. % 40-E0

Question Number : 137 Question Id : 99836739361 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
g et , s S eEr e-10 " ______ CERHCIE

Options:

1. % 90-100
2. % B5-75
2. % B0-B5
4. % 40-50

Question Number : 138 Question Id : 99836739362 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
which of the following is the first rule for Hindi Sound systern?

I If & word starts with a consonant cluster and the first consonant is | p | ,then the consonants that can
cluster with jp fare fv |, [r{, |1} and | v | only and none else.
II. Mot more than 4 consonantal sounds can precede a vowel in the word initial position.

Options:

1. Cnly [

2. % Only II

2 % BothlandII
4. % MNeither I nor II

Question Number : 138 Question Id : 99836739362 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1.9 Sad ]

2. % Fadll

3. % [ Farll I4t

4, % qTErI ATETII

Question Number : 139 Question Id : 99836739363 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
"English larguage continues to play a important role in ndia”. What is/are the reasonis) behind this staternent?”

[. English is the language for cormumerce.
I1. Proficiency in English is the marker of a dignified and distinct perscnality.
I1I. English is used as a medium of education.

Options:

1. % [andIII
2. % Only 11

3 % [TandIll
4 % 1 I and III

Question Number : 139 Question Id : 99836739363 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
" SIUSAT AT R H T &0 € U Ageayy| T Tt o7 8T 5 50 e & Ul 3T R 5 e

[. ST aTiorear o o < 2
I1. =T | WA T O Wid B &Y D19 saihed &1 AT 21
I11. 2RIt T JUT T8TaT o ATeaA o ©0 § T <7 21

Options:

1. % [ q4rlll
2 % Faell
3% 1 J9rlll
4 %1 II q9rlll

Question Number : 140 Question Id : 99836739364 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The process of striking a balance between accormmodation and assimilation is called
important in piaget's theory of cognitive developrnent.

and is very

[. Adaptation
II. Equilibraticn

Options:

1. % Only [

2. % Only 11

2. % BothandII
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4 % MNeither I nor 11

Question Number : 140 Question Id : 99836739364 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ST T ATCHETCRET o e Hqet a1 ol e ar @l ______ HET AT & U7 g WIT o S HcA el o Tegia H agd

et &

I. e
I1. et

Options:

1. % Faa]
2. ¥ Fadll
3. % 1 qerll =t
4. % qTErIATETII

Discipline=
Group Number : 8
Group Id: 9983671218
Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit? : No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
Disciplines
Section Id : 9983671617
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 9983672013
Question Shuffling Allowed : Yes

Question Number : 141 Question Id : 99836739365 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Pre-number concepts of matching, sorting, comparing, ordering and subsidizing develop during pre-school
vears i.e before the age of FEArs.

Options:
1. % 10
2. % 12
3.9 5
4. % 9

Question Number : 141 Question Id : 99836739365 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

THAT @, BT, ol e, FHekg Ted a0l AgTadT (Hieda) o 1 Te-aed] SaaRu et & g & 991 & gre amr
______ o T ] & UEe e e gl ST gl

Options:
1. % 10

2 % 1z
3.¥v 8
4 ® g

Question Number : 142 Question Id : 99836739366 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
which of the following processes are involved in problem solving?

[. Cornparing

I1. Inferring

[1I. Classification of objects and data
IV, 1Ising trial and error

Options:

1. % landlIl

2. % I Il and IV
2 % JandIll

4. % 111 1l and IV

Question Number : 142 Question Id : 99836739366 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

o & & == |f nftramd S gamem § s 27

I T FlAT

II. STTATT @T

111, STHS] T e &l T i
I . At 3T i &7 Jum

Options:
1. % 13971l

2. % I, 11 99T IV
3% [Fgrlll
4. %111, 111 T IV

Question Number : 143 Question Id : 99836739367 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct Marks: 1 Wrong Marks: 0.25
which of the following isfare the problems in teaching and learning of mathermatics?

[. Crude assessment
II. Lack of interest
[1I. Inadequate teacher preparation

Options:

1. % ITandIII
2. % Only 11

2 % JandIll
4 %[ 1] and III

Question Number : 143 Question Id : 99836739367 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
e # & 29 &f nivT o arfed g TEegor & g g2 e

1. TrFe SITere g id
I1. &= T SFTe
111, Tdrarer & amo=ig d=mer

Options:
1. % 11 F4TIIl

2. ® Fadll
2% [ Ferlll
4. 91, 11 qam1Il

Question Number : 144 Question Id : 99836739368 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

while teaching the concept of fractions to students of VI grade, a teacher performed the following task:
Distributed few pieces of paper (circular, rectangular shape) and thread to all the students and ask therm to
divide therm into two parts. The students may divide the paper fthread either in equal or unequal parts. This
abowve scenario indicates which sequential phase of 5 E's learning model?

Options:

1. # Elaboraticn phase
2. % Evaluation phase
=. % Explanation phase
4. ¥ Engagernent phase

Question Number : 144 Question 1d : 99836739368 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
V1 T o T ol T T SO ugTd By, U fdee | FeiAtET @ o ot ot § a0 & g gwe (THE R, ST

TETE) T 1T T ied e oY 38 5o of 9t | foriag o=y o ToT @ mwmﬁaﬁmummaﬂumwﬁﬁm%
JUIE TAHF S E's 18T Wi o T wie 0T &1 Saidr 57

Options:

1. % TOwaT 9t @ =R
2. ® geamr W@ o
3. % O IR

4. & AT =
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Question Number : 145 Question 1d : 99836739369 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

To find out the place value of any digit present at hundredth place of a number, we have to multiply that digit
by

Options:
1. % 1000

2. % 10
3.9 100
4. %1

Question Number : 145 Question Id : 99836739369 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TepeT T @ I T U Hig, TRt T e T ETi-er O AT F o oy, §H 39 el T ______ T[0T AT Z I

Options:

1. % 1000
z % 10
2.9 100
4 % 1

Question Number : 146 Question Id : 99836739370 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A terrminating and a non-terminating and recurring decirmal each represents 3

[. Eational number
I1. Irrational number

Options:

1. % Only Rational number

2. # Only Irrational nurmber

3. % Both Rational and Irrational namber
4

. % Neither Rational nor Irrational nurmber

Question Number : 146 Question Id : 99836739370 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T |1T TT U 3T I S4Aad # & W@ 0

I uﬁﬂﬂm
11, amirae gear

Options:
1. & S ghvee 9

2. % e el ST
3. % givEg T ST g 2t
4. % 75T UIVHT TREAT AT B ST wET

Question Number : 147 Question Id : 99836739371 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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The set of geometrical instruments include a scale, a pair of dividers, a pair of compasses and a pair of

setsquares. Cut of these set Square, one isa 45" - 45° setsquare and the otherisa ______ Setsquare.
Options:

1. % 20° - 707

2. % 15° - 75"

3% 50 - 30°

4 % 557 - PL°

Question Number : 147 Question Id : 99836739371 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T 127 U0 1 U Fobed o & ofY, TSaT5ev & o T, TR &1 ek I a9 He €T 1 UF 10 AT0A 51T 51 54 &
T H & 0w 45° - 45° YT THTAT & T GERT ______ T TP 2

Options:

1. % 20°-70°

o % 15° - 75°

3. v 50° - 30°

4 % gge o oge

Question Number : 148 Question Id : 99836739372 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
In different countries, which of the following are the two major systems of standard measuring units?

[. The rmetric systerr
I1. The british or imperial system
ITIT. The calculation system

Options:

1. % [Tand Il
2. % JandIIl
S ¥ landll

4 % [ 1l and III

Question Number : 148 Question Id : 99836739372 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tarerg gort 8, FEie T | & @ A AE W0 SRS i ol W WTieal oy

I. Tofeer momeT
11, Teiesr For srftias uome
111, FeTgrotal Home T

Options:
1. % 11 4TIl

2. % [ 39rlll
3V Tl
4 % [, II 99rlll

Question Number : 149 Question Id : 99836739373 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following is not a dimension of assessment of mathematical learning?

@ Teachingninja.in



Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.

Options:

1. Fatterns and procedures

2. Corrrrmnicaticon

>, Mathermatical reasoning

4, Disposition towards rmathematics

Question Number : 149 Question Id : 99836739373 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

AT & & H1 T ST & STEe S O EHr g e

Note: For this question, discrepancy is found in question/answer. So,this question isignored for all
candidates.

Options:

1. Wide qeT fateaT

2. S

3. T ae AT

4. Tt o wid sl

Question Number : 150 Question Id : 99836739374 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose Mo error’.

He has (1) | help to (2) | popularise conternporary dance (33 | Mo error (4)
Options:
1. %1
2 V2
3.% 3
4 % 4

Question Number : 150 Question Id : 99836739374 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose Mo error’.

He has (1) | help to (2) | popularise contermnporary dance (3) [ MNo error (4)
Options:
1. %1
=
3% 3
4, % 4

Question Number : 151 Question Id : 99836739375 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Improve the bracketed part of the sentence,

She was late for the class @t) Monday.
Options:
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1. % in
2. % on
3% to

4. % MNo improverment

Question Number : 151 Question Id : 99836739375 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Improve the bracketed part of the sentence.

She was late for the class (at) Monday.
Options:
1. % in
2. % on
3% 1o

4. % MNoimprovernent

Question Number : 152 Question Id : 99836739376 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
Choose the word that 15 opposite in meanng to the given word.

Earthly
Options:

1. ® praise

Z. % inclined
3. ¥ heavenly

4. % artual

Question Number : 152 Question Id : 99836739376 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the word that 15 opposite inrmeaning to the given word,

Earthly
Options:

1. # praise

2. % inclined
2. ¥ heavenly

4 # artual

Question Number : 153 Question Id : 99836739377 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the word that means the same as the givenn word.

Pardon
Options:
1. # condernn

2. % ability
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= % durable

4 % exciyse

Question Number : 153 Question Id : 99836739377 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
Choose the word that means the same as the given word.

Pardorn
Options:

1. # condermn
2. % ability

2. % durable

4. & oycuse

Question Number : 154 Question Id : 99836739378 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the word that can substitute the given senternce.

The science of governmernt
Options:

1. % higot

Z % politics

3. % lconoclast

4. % pigarmist

Question Number : 154 Question Id : 99836739378 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the word that can substitute the given sentence.

The science of government
Options:

1. % higot

2. ¥ politics

2. % Iconoclast

4. # bigarmist

Question Number : 155 Question Id : 99836739379 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the word that can substitute the given sentence.

Cne who drives a motor-car
Options:
1. % chauffeur

2. % pedlar
3. % besiege

4. # panacea
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Question Number : 155 Question Id : 99836739379 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
Choose the word that can substitute the given sentence.

e who drives a motor-car
Options:

1. % chauffeur

Z. % pedlar

3. # besiege

4. % panacea

Question Number : 156 Question Id : 99836739380 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following questiorn, out of the given four alternatives, select the alternative which best expresses the
meaning of the [diom|FPhrase.

To blue one's money

Options:

1. % Owercome

2. ¥ Tospend all one's money wastefully
3. ® Beinvolved in

4. % Make progress

Question Number : 156 Question Id : 99836739380 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following question, cut of the given four alternatives, select the alternative which best expresses the
meaning of the Idiom Phrase.

To blue one's rmoney

Options:

1. # Owvercome

2. ¥ Tospend all one's money wastefully
3. % Beinvolved in

4. # Make progress

Question Number : 157 Question Id : 99836739381 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& seritence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

A lot of worlk to be done.

Options:

1. ® rermain

Z. ¥ rerains
3. # rermaining

4. % has remain
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Question Number : 157 Question Id : 99836739381 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A& seritence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

Alotof worle ______ to be done.

Options:
1. #* remain

2. ¥ remains
3. % rermaining

4 % has remain

Question Number : 158 Question Id : 99836739382 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following stages of Kohlberg of mural judgement share many features with Fiaget's stages?

Options:

1. # Stage 2, Stage 4 and Stage &
Z % Stage 1, Stage Z and Stage 3
3. ® Stage 1, Stage 2 and Stage S
4. % Stage 2, Stage 3 and Stage S

Question Number : 158 Question Id : 99836739382 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TG o AT T T e el e atereertat # & Wi HT ST T i Sreerart 3 9 W ATy S W a7

Options:

1. % ZE07 2, T 4 9T =0 &
2. % o 1, Iy 2 JET e 3
3% ZRUT 1, TROT 2 FETERm S

4 % U2 TS JETIRW S

Question Number : 159 Question Id : 99836739383 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following criteria are met by the Kohlberg's stages of moral development?

[. Structured wholes
II. Cmalitative differences
IT1. Inwariant sequence

Options:
1. % Only III

2. % Il and III
2.9 1, 11 and III
4. % [andIII

Question Number : 159 Question Id : 99836739383 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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TR o ATdd TBTd & TR0l ERT FEie T § & @ A7 Aes 0T 27

L wef ot
II. CHE 3Td7
III. T

Options:
1. ® FEelll

2. % 1 q9rlll
S 9110 el
4 % [ FuTlll

Question Number : 160 Question Id : 99836739384 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The Kohlberg - Elatt method of inducing cognitive conflict exermplifies

Options:
1. ® George Polya

equilibration modeal.

Z ¥ Jean Piaget
3. # Lev Vygotsky
4. % Ewva Skoe

Question Number : 160 Question Id : 99836739384 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
FIAeT] — EcATe Sl HATTcHE He &1 0fed s s fafer ___ & A HIS 1 ISR od T gl

Options:

1. ® ST gier

2. o S o

3. % 5T aEioadt
4 % daremt

Discipline4
Group Number : 9
Group Id : 9983671219
Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit?: No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
Discipline4
Section Id : 9983671618
Section Number : 1
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Section type: Online

Mandatory or Optional: Mandatory

Number of Questions; 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 9983672014
Question Shuffling Allowed : Yes

Question Number : 161 Question Id : 99836739385 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following isfare the basic concepts of John E. Watson?

[. Environmentalism
I1. Study of emotions
I1I. Practical applications

Options:

1. % Only III

2 ¥ IlandIll
2% Only I

4. % [and Il

Question Number : 161 Question Id : 99836739385 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
FERET & & 77 99 = JTcad &1 05 TRy g7

1. Ui

11, TeATa ®T a7
111 egTear gy

Options:

1. % Haa il

2. % 11 9Tl
3. % el

4. % [ FATIII

Question Number : 162 Question Id : 99836739386 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The operant model was related to which of the following?

Options:

1. % BF. Skinner

Z. % John B. Watson
3. % Jean Piaget
|

. % George Polya
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Question Number : 162 Question Id : 99836739386 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

AT T Hied Rl § & e gareT a1
Options:

1. ¢ & T T

2. ® FHE dlead

3. ® Ff ot

4. ® T4 U

Question Number : 163 Question Id : 99836739387 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

According to MNational Curriculum Frameworl: (NCF), 2005, which of the f-:}ll-::-wing 15/are the Ob_jECtiVEI:S:I of
teaching EVS?

[. To develop an awareness about environmental 155ues

I[1. To train children to locate and comprehend relationships between the natural, social and cultural
ENVIIOTITIETLE

III. To nurture the curiosity and creativity of the child particularly in relation to the natural environment

Options:

1. % Both [ and II
2. % Both Il and III
2% Only I

4. % 1, 11 and III

Question Number : 163 Question Id : 99836739387 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
YT UTEra] @ ST (. 810, 2005 % argaR, Haierad § & S0a & g o1/ 9 3257 747 37

I. rertavofier ggt & aie § ST e #er

I1. =i & . ATHTRE TT FeE e 10T & o=l Heral T UaT 7100 TAT Irg GHS o 10T W8T #eT
I11. Terdm =0 & Wi Tria & deel § o] &l Fr=ar a2 @acHedT & e e #ear
Options:

1. % [ gumll ==t
2. % 11 Furlll =+t
3. % FEal

4. V1, 11 Falll

Question Number : 164 Question Id : 99836739388 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following can be considered a creative form while learning EVS?

[. Making collages
II. Songs

1. Poetry

V. Banners

Options:
1. % I, [IandlIll
2. % 1L Il and IV
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3 % [ Il and IV
4 & 11 1l and IV

Question Number : 164 Question Id : 99836739388 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
T T ST Fd gAY T | o e weTeHe Tty @ w0 AT ST T 57

1. IR ST
1. T

111, wiaaT

IV, &%

Options:

1. % 1,11 FarIIl

2. % 11111 qaTIV
Z %1000 FuTIvV

4. 9111, 101 eIV

Question Number : 165 Question Id : 99836739389 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhich of the fOllDWiﬂg 15 MOT an international declaration or agreament that links children and ervironmert?

Options:

1. # Convention on the Rights of the child (1989
2. % The Habitat Agenda (1990)

2. % Convention on Biological Diversity (1992)

4. % 8 Environment Ministers Cormmuniqué (2001)

Question Number : 165 Question Id : 99836739389 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Trgfeieae & & o U siaeisia g a1 GnetaT 51 & < agt a0 gt ot g g7
Options:

1. ® S arferaR] o qred (1989)

2. ® 2T TAET (1990)
3. ¥ JAfgw EieaT o ared (1992
4 % Gg Zaf o wiae At @ S (200 1)

Question Number : 166 Question Id : 99836739390 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following is MOT one of the steps involved in planning teaching - learning in EV 57

Options:

1. # Reflecting on your lesson plan

2. % Creating a realistic timeline

3. % Preparing results of the assessments

4. % Plan to check for the learning and understanding

Question Number : 166 Question Id : 99836739390 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct Marks: 1 Wrong Marks: 0.25
T o & Fa7 soiue # T&rer—arfemmm & Tt a9 # e oeor # € 0w A5 87

Options:

1. ® St uTE T 0 YA F]

2. ® UF IR GHAET ST

3. ¥ e o Wi dE EAT

4. % SITETH TUT HES R TG & W0 T ST

Question Number : 167 Question Id : 99836739391 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following is NOT an idea for creative expression in EVS?

Options:

1. # Poster Making

Z. % Taking photographs
2. # Dramas and plays
4. % Papier rrmache

Question Number : 167 Question Id : 99836739391 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
FEmET & & 737 Sei0a o @aea® et & w0 0% 97T Tl 57

Options:
1. % et a9 T

2. ® Tt dfgEr
3. % e ger ATdEny
4 & ot (HUTE AT

Question Number : 168 Question Id : 99836739392 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In which of the following listening activities, a teacher tells the story and the pupils and teacher do the actions?

Options:

1. # Listen and do

Z. % Put up vour hand
3. ¥ Mime stories

4. % Listen and draw

Question Number : 168 Question Id : 99836739392 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
FEmET & & o go- @& miafafer 8, U sreamuw wgmt g ¢ au et aur sreemew e w2y

Options:

1. ® g T FT

2. % AT T IO IATET

3. TR T g EAT
4 & AT TUT IR
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Question Number : 169 Question Id : 99836739393 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
what could not be the possible reason for things to go wrong in a classroom?

Options:

1. # An activity doesn’t work
2. ® An external disturbarnce
3. % The class is out of control

4. % A student has not come to school

Question Number : 169 Question Id : 99836739393 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

FyT H =1 & TeAd 51 &7 THIT T F47 A5 1 51 Tl 57
Options:

1. ® e MidTeter S i gr e

2. % g T

3. % my PR

4. ¥ U ISemft Henag a8t amar g

Question Number : 170 Question Id : 99836739394 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Cne of the key areas that must be incorporated in teacher-education programumnes is:

[. understating of the sociology of learning.
II. current knowledge about the processes of language and literacy acquisition.

Options:

1. % Onlyl

2. ¥ Only 11

2. % BothlandlIl

4. % MNeither I nor 11

Question Number : 170 Question Id : 99836739394 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tateger—TatarT arreiareit & anfirer fpg = ol g AT A A uw 27

1. TTEMT o SHFTTET & gasEn
I1. THT F2IT T1aRaT SITEmgor o nieparalt & a | g g A

Options:
1. % Fadl

2 & Faell
3. % [ Furll ==t
4. % qUErIATETII

Question Number : 171 Question Id : 99836739395 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which criterion doesn’t fall under psychological aspect?

Options:
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1. ® Iustrationslayout
2 ¥ Level
3. ® Motivation

4. % Literary devices

Question Number : 171 Question 1d : 99836739395 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T T AIEE AT AGE oF 3igTid 5T &7aT &7

Options:
1. % BT

2 ¥ wEe
3. ®
4. ® qiiiciw ey

Question Number : 172 Question Id : 99836739396 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which is the correct way to define what storytelling is?

Options:

1. # It is telling a story to everyone present there

2. ¥ [t is telling a story to people who are willing to listen

3. ® It is telling a story to people even when they are not interested

4. % It is telling a story in order to show how knowledgeable the teacher is

Question Number : 172 Question 1d : 99836739396 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TR FpT F4T &, 56 TICHTIHT e T Tl JCIwT F47 27

Options:
1. % =g a5l Hisg g€ Tl BT o FErEr G g

o & T g & T=g@ ANl T UF FEI AT 8
3. ® g eRr 9 gH Wt F W O we g g
4. % o Terrer o Tong op Tt Topererr AT &, U gl gAAT

Question Number : 173 Question Id : 99836739397 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Howr is keeping "individual profiles” useful?

[. It helps i later complaining o pupil’'s parents about their progress.
II. It brings together both formal and informal assessments.

Options:

1. % Cnly I

2.9 Only 11

3. % BothIandlIl
4. % Neither I nor II
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Question Number : 173 Question 1d : 99836739397 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
SR WIS A T-T el SOt 27

[. 56 a2 § Taemisat & mrl & an # 390 AET-T0aT o T T § Ao THedT 8
I1. =g afoerTieer F2T ST 21 ST &1 (HaAET 2]

Options:
1. % fadl

2. & Haall
3. ® [ gomll gt
4. % FTErIATETII

Question Number : 174 Question Id : 99836739398 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
What are the varions tasks that listeners cormnplete while listening?

[. Listen and guess
IT. Listen and g up

Options:

1.+ Cnly 1

o ® only I

3. % BothlandIl
4. % MNeither I nor 1

Question Number : 174 Question Id : 99836739398 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
STET Fd AT ST FIA-H 1 | w0 Qo Fd 57

L. AT TUT SITAT FTT
[T, FAAT T2T AT

Options:

1.9 Sad ]

2. % Fadll

3. % [ Farll I4t
4, % qTErI ATETII

Question Number : 175 Question Id : 99836739399 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
‘Sequencing’ would fall under which reading activity?

Options:

1. % Listening and reading

2. ® Reading to reconstruct texts
2. % Problem solving
4

. ® Practising reading new words

Question Number : 175 Question 1d : 99836739399 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct Marks: 1 Wrong Marks: 0.25
AIFAT T UTa T & dRd ATl 87
Options:

1. & GAAT TET 0T

2. % Tupt @ qAEATT B @ oy gl

3. % guear gare

4. % 7 geaf W UG BT ST FLAT

Question Number : 176 Question Id : 99836739400 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
what is the purpose of writing at word-level'?

Options:

1. ¥ Learning new vocabulary, handwriting and spelling
2. ¥ Practicing new structures and functions

3. % Planning, drafting, editing and understanding layout

4. ¥ Development of metacognitive awareness

Question Number : 176 Question Id : 99836739400 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

' Mea—FdT UL WG & J547 FAT 57

Options:

1. % 9% aecTal, o T ad =T ST

o, % T Gl T W T ST BT

3. ¥ eI w1 AT, UTET, SuTied ST 9T GHAT

4 & OTTEAETCRE ATEERTT @ T

Question Number : 177 Question Id : 99836739401 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following is a role that a teacher has to play?

[ Interactive role
II. Perspective role

Options:

1.9 Only 1

2. % Only 11

3. % BothIandII
4. % Neither I nor I

Question Number : 177 Question Id : 99836739401 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

AT & & F1 | i U Ty @1 et aged T g?

1. UEUR TSR o SIfienT
I1. TiRTEr &1 ogfireT

Options:
1. v Faa ]

@ Teachingninja.in



= R Tl
S ® 39Tl =4t
4, % qTErI ATETII

Question Number : 178 Question Id : 99836739402 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
[niwiting visitors to classroor will be which encouraging activity?

Options:

1. % Creating [sourcing authentic situations
2. # Explaining

2. % Discussing
4

. % Researching

Question Number : 178 Question 1d : 99836739402 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T H SITIRT H T STTATT FCAT T A FoATg i e ey e

Options:

1. & g Tt @ e T
2. % g

3. % gl T

4. gver AT

Question Number : 179 Question Id : 99836739403 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following is not included in stage 2 of productive computer session?

Options:

1. % Complete the work

2. % Compare their work with others

2. % Review what they have done and why

4. % Encourage pupils to focus on the topic

Question Number : 179 Question 1d : 99836739403 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT & & w7 U SUanT HE] 9 & o 3§ AT TRl e

Options:

1. % e i O wA

2. % el wT il AT gEt | AT

3. % gegie o T 5 T T ST THIT weAT

4. & Tt @ e o e died w- o 6 Hieaied @i

Question Number : 180 Question Id : 99836739404 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
‘Encourage pupils to focus on the topic’ comes under which stage of productive computer session?

Options:
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1. % Stage 1
2. % Stage 2
S % Stage 2
4 % Stage 4

Question Number : 180 Question 1d : 99836739404 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

“Terentdat wt o o e ST e #F o wieated T Juat ST | 3 o IR O a5 AT R

Options:
1.9 =l

2. ® w2
3. %z 3
4. % = 4

Disciplines
Group Number : 10
Group Id: 9983671220
Group Maximum Duration : 0
Group Minimum Duration : 120
Revisit allowed for view? : No
Revisit allowed for edit?: No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
Disciplines
Section Id : 9983671619
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions; 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 9983672015
Question Shuffling Allowed : Yes

Question Number : 181 Question Id : 99836739405 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
An activity of ‘conducting a survey’ involves which two skills?
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Options:

1. # Listening and Chanting
2. ¥ Listening and Speaking
3. ® Listening and writing
4. % writing and Speaking

Question Number : 181 Question Id : 99836739405 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
"I Wl 4T S T T § W | 27 R A 57

Options:

1. ® FAT 9T AT

2. & AT T w1
3. ® oA qr oA
4. 8 TEET T ale=T

Question Number : 182 Question Id : 99836739406 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
what is the role of a Role Play?

Options:

1. % Asking and answering questions to pupils

2. % Provides a memorable occasion to practice English
3. ® Helps in encouraging while practicing key words

4. ¥ Provides an opportunity for language that has been presented in a story to be used in a different contest

Question Number : 182 Question Id : 99836739406 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

AT AT T T YT 57

Options:

1. ® it & v gudT 9T 39w 38 o1

2, % TR T ST F o TR U IS e e da T g

3. % U Teg! 1 SR Fd A WIeHIEd e § AGE #dl 5

4 & T g TG AT R U STE Ha H FUT e o T o T U STEEY e waT

Question Number : 183 Question Id : 99836739407 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What can social science do to strengthen national integration?y?

Choose the correct opticn.

I. Social Science can sensitize learners to the importance of national unity
II. Social Science can teach about the valued symbols of national identity and unity
I11. Social Science can impart a historical perspective to the issue

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.

Options:

1. Only 1
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2. COnly II
3. Both I and II
4. MNeither I nor 11

Question Number : 183 Question Id : 99836739407 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
TR TEh G0 o G4 e o Toll STATTAS =T FT B aadl a7

el e gl

1. |t T Taemidat @ Tt Ut o Agcd & Wid Sdied o g@aT £l
I1. |ATRE T R T ehdT o Hgcavl W (1 o e H T6mar darar 21
I11. |TATRE [T g% & U UTdgTiae Oimes He= Y aadT gl

Note: For this question, discrepancy is found in question/answer. So,this question isignored for all
candidates.

Options:

1. Fadl

o a1

3.1 q9rll gt

4, ATET] ATEIII

Question Number : 184 Question 1d : 99836739408 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhich of the following isare the approaches adopted by social scientist in understanding political science?

I. BEehavioural Approach

II. Legal - institutional Approach
111. Philosophical Approach

IV. Elermentary Approach

Options:

1. % [ [Tand IV
2 % 1,11 and III
2% I I and IV

4 % [ I, Il and IV

Question Number : 184 Question 1d : 99836739408 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT o1 &1 T B T dalTi-e g Hgie e # & S &7/ & JUTTH 0T TE7 57

[. SIGEIcHE SUTTH

11. S SeeTd FUTTe
111, =Tt JumTe

V. WTEITHe umy

Options:
1. % 111 F&mIv

2 % [ 10 9rlll
2% 11 100 99 IV
4 % [ I, 111 Fam1v
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Question Number : 185 Question 1d : 99836739409 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following is NOT a domain of Geography?

Options:

1. % Non - humman Geography
2. % Human Geography

3. % Biogeography

4. % Regional Geography

Question Number : 185 Question Id : 99836739409 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Fergfetfea 3 & e sqeiten anr 21T T 0
Options:

1. ¢ TR-Am=a g

2. ® g e

3. &y

4 % g

Question Number : 186 Question Id : 99836739410 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following is an archaeclogical source of History?

[ Murmismatic evidence collected from the study of coins
II. Sacred literature
I1I. Monumental findings including buildings

Options:

1. % BothIand Il

2. % Both [ and III
3. # Both II and III
4 % [ 11 andIII

Question Number : 186 Question Id : 99836739410 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

ol § & 747 5Tig™ &1 [idcd 91 a7

I. Ty o areara © SniEd gof fouad ansg
I1. OfeT aeed
I11. T T AT T SHN STHA 5

Options:

1. % [ gomll =+t

2. % [ FaTlll 2=t
Z % 11 Furlll et
4, % 1 I 9TIII

Question Number : 187 Question Id : 99836739411 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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which of the following specimens can be used while teaching the learners about resources?

[. Specimens of soils
II. Specimens of minerals
[1I. Specimens of agricultural products

Options:

1. 91,11 and III
2. % Only 11

2 % BothlandII
4. % Only I

Question Number : 187 Question Id : 99836739411 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
HETAT @ S H ATt R U w6 e H T A T U AT ST e | g

I el o =g
1. |t o

111 P Feursl & "

Options:
1.9, 11 qemlil

= % Sl
= ® [Tl =4t
4 % FEel

Question Number : 188 Question Id : 99836739412 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If ¥is B0 percent more than B, then B 15 how muach % less than X7

Options:

1. % B0 percent

2. ¥ 23 33 percent
=, % 2L percent

4. % 42 78 percent

Question Number : 188 Question Id : 99836739412 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
I ¥, B & S0 Wit afée &, TE, ¥ & forae nidaT w7 57

Options:

1. ® S0

2. ¥ 32 33U
3. % 25 AT

4 % 42 75 UdaT

Question Number : 189 Question Id : 99836739413 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Fadius of base and height of a cylinder are 10 cmand 21 cm respectively. What will be the volume of cylinder?

Options:
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9600 cm’

1 ®

> % 8800 cn’

5 o 0600 cm’

4400 cm?

4 %

Question Number : 189 Question Id : 99836739413 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T aelT o SITEIW 3 e 92 AT @HE 10 &0t 32 21 S0 31 &6 &7 Aaa- F47 e

Options:

9600 H.HT3

8800 H.HI3
6600 H.HIS
3w

4400 H.HY3

Question Number : 190 Question Id : 99836739414 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Those rational numbers whose denorminators have no factor other than 2 or 5 can be represented as decimal
nurmbers, Such decirnal nuimbers are kaowrl as

[. Mon - terminating decirrals
II. Terminating decirmals

Options:

1. % only I

2. ¥ Only 11

2 % BothlandII
4. % MNeither I nor II

Question Number : 190 Question Id : 99836739414 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
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o oieH G e g % 2 A7 S F Afdien B8 U W2 TRl B, W SAAAT SEdT o w0 § TAfar A1 aw%aT ) UE gaued
et o AT & T AT 2

[ To-9id Taea
1. AT T THTE HAT

Options:
1. % Fadl

2 & Faell
3. % [ Furll ==t
4. % qUErIATETII

Question Number : 191 Question Id : 99836739415 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following statements is/are correct?

[. Two angles are said to be supplementary if the sum of their measures is 90°
II. & pair of angles are said to be complementary angles if the sum of their measures is 1807

Options:

1. % only 1

2. % only II

2. % BothIandII
4. % HMeither I nor I

Question Number : 191 Question Id : 99836739415 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

e & & 17 a1 & o g8y 87

I. ST IO T AL Pgl AT & die, I A T 07 90° &
I1. 0Tt S T T Qe 10T gl SATGT & 2Aig - OT01 &7 AT 180°

Options:

1. % Fadl

2. % Fadll

3. % 1 qerll 3=t
4. & AT ATETII

Question Number : 192 Question Id : 99836739416 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
lo0misequal to ______.
Options:

1. % 1/10 hectometer

2. % 1 Decimeter

2. % 1 Decameter

4 % 1 hectometer

Question Number : 192 Question Id ;: 99836739416 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
100 HiZT ¥ AT 2

@ Teachingninja.in



Options:

1. % 1710 gAY
2. ¥ 1 MR
3. ® 1 ZEHiET

4. ¥ 1 gEiEET

Question Number : 193 Question Id : 99836739417 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A symbol which does not have any fixed value for it, but may be assigned any numerical value according to
the requirerment is known as

Options:
1. ¥ Constant

2. % Expression
3. % Variable

4. % Theorerm

Question Number : 193 Question Id : 99836739417 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25

T W 1o Pt i s A gt ST, Feg sTaeaed A 39 ®is TEdTcrs AT [T A7 9T 7
Options:

1. % =%

o R o
SR T
4 ® gug

Question Number : 194 Question Id : 99836739418 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Homwr Carn we rmale students aware about the nead 1o save electric energy?

I. Turn off all electrical appliances when they are not in use
I. Create posters, slogans, organize CArMpaigns to Create Awareness to save electricity

Options:

1. % Only I

2. % Only 11

3. % Both [ and II

4. % Meither I nor 11

Question Number : 194 Question Id : 99836739418 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
=H Tde]d 1 & s @ S aaeEd T 3 a1 § g1l B e FAEE T awd o7

I. Tt Teratell oF JUerenTt &1 e, ear ofel of JqaT # A7 51
11, ettt s o To sirmera T a7 9= o T80 Oieee, e Smene 9T S =eT &Y

Options:
1. % Hadl

2. ® Fadll
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3. ¢ il
4. % FTErIATETII

Question Number : 195 Question Id : 99836739419 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
which of the following assignments a teacher can give to the students so that they can better understand the
concept of magnet?

[. Find out types of magnets (shape, size and kind) you corme across in different gadgets, for example;
Loudspeaker, TV, Telephone, Electric ell etc.
I1. Collect information on magnetic therapy (magnets are used in the treatment of some magneto therapy)

Options:

1. % Only I

2. ® Only I

2. % Both [ and II
4, % Meither [ nor [1

Question Number : 195 Question Id : 99836739419 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T ST et B FREET § & B9 A7 FEaHe & 9%dT & e o Juw S AR ® S5a] o1 § THeT 97

1. Terr werre o ot JeTeeor o T drasedion, T, Teiwie, Tereye ©iat avfe # e g1 el SFemht 3 W (ATHT, A1 T

TERTE) T 9T o)
1. ek ey FeIferea o SAerit U 4 (7 St St & Svar | da@ U g 1 8)

Options:

1. % Fadl
2. % Fadll
3. ¥ Tl

4. % FUErl ATETIl

Question Number : 196 Question Id : 99836739420 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following statements is/are correct about light?

[. Light travels in straight line
I1. It is reflected, it is absorbed wholly or partially and it also produces amusing colour patterns
I11. It causes shadows, eclipses and forms images

Options:
1. % Il and Il

2. % Only
2 0% landll
4 % [ I and LI

Question Number : 196 Question Id : 99836739420 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 197 Question Id : 99836739421 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following staterment doesn’t describe the nature of science?

Options:

1. ® Science is both a body of knowledge and a process
Z. % Science is a global hurman endeavour

3. % Science is a Ccomrnurnity enterprise

4. % Science is bhoring

Question Number : 197 Question Id : 99836739421 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tt & & o= a1 em foam &t ngfa o7 anfa =gt #war 22

Options:

1. % &G S 97 U i 2=t
2. % Taame U e 3T T R
3. # fae U SgEriE som §

4 ¢ A IS §

Question Number : 198 Question Id : 99836739422 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following isjare the examples of inductive reference in teaching of science?

[. When we drop a diary, it falls dowtl
I1. Water flows down the slope
I1I. & flower from a plant is attracted by the earth

Options:
1. # [T and III

2. ¥ [, 11 and 1II
2. % Cnly 111
4. % COnlyl

Question Number : 198 Question Id : 99836739422 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % 11 qemlll
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Question Number : 199 Question Id : 99836739423 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
"Gernder has primarily been vicwed

[. as concermung only girls and wornen (@ biological category)
II. as an isclated category, rot related to other issues
I1I. in terms of provision of equal facilities

Options:

1. % IandIII
2. % [IandIIl
2.9 [ Il and I

4. % only 1

Question Number : 199 Question Id : 99836739423 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % [ q9rlll
2. % 1 q9rlll
3.9 11 a9l
4 % Fael

Question Number : 200 Question Id : 99836739424 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
‘Equality as a goal’, strategies adopted for it has focused on which of the following?

I. Neutralising texts of any gendered references
I1. "Sensitive” portraval of discrimination that girls fwomen face

Options:

1. % Only I

2. % Only 11

3. % Both [ and II

4. % Meither I nor 11
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Question Number : 200 Question Id : 99836739424 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
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Options:

1. % Fae]

2. ® Fadll

3. 9 [ FaTll 24t
4, % qUErIATETII
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